25;7%| PrOFI-TEAM LATINA 5.

SISTEMAS DE MONTAJE
\
|

~" PIPE RACKING SYSTEM

SISTEMA TUBULAR PARA ARMADO DE FACILIDADES

ISO 9001/ 1SO 14001 Certified




5572 PrOFI-TEAM LATINA 5.

SISTEMAS DE MONTAJE

Contents - Indice

PIPE RACKING SYSTEM
SISTEMA TUBULAR PARA ARMADO DE FACILIDADES

- PIPES / TUBOS

- METAL JOINTS / UNIONES METALICAS

- PLASTIC JOINTS / UNIONES PLASTICAS

- ROLLER TRACKS / CARRILERAS DE RODILLOS

- ROLLERTRACK MOUNTBRACKET / SOPORTES PARA CARRILERAS DE RODILLOS

- ROLLERTRACK CAP / TAPAS PARA CARRILERAS DE RODILLOS

- ACCESSORIES / ACCESORIOS

- CASTERS / RUEDAS

- FLOOR LOCK / PIES DE FRENADO

- LIFT TABLE / MESAS CON ALTURA REGULABLE

* TECHNICAL SPECIFICATIONS / ESPECIFICACIONES TECNICAS

- EXAMPLES / EJEMPLOS DE FACILIDADES

83

143
149

150
153
155

SINIOf VLW

-
—
=
4
(@)
—
]
=
w

SYDVdL 3 T10d

ERLANE]N d31SYD S31HOSSIV

TYIINHOAL

™
<
=
=
i)
—
m
wn



PIPES - TuBos

COLOR CODE NUMBERING
SYSTEM FOR PIPE

DP28
| |

DP = Double Coated Pipe

EP = Coated ESD Pipe

CS= Normal Coated Slide Pipe
ES = Coated ESDSlidePipe
CF = Normal Coated Flat Pipe
EF = Coated ESDFlat Pipe

CL = Coated Bladk Strppe Pipe
FS= FullSlide Pipe
LS=L-Slide Pipe

SP = Spiral Pipe

SD = STS-DCoated Pipe

S = SIS Pipe

G = Eco-Pipe

EG = ESD Eco-Pipe

Z = EcoZ(Zinc)Pipe

05=t05
07=t0.7
08=1t0.8
09=t09
10=t1.0
12=t1.2
14=t14
20=t20

Example :Case ofcoated Pipelvory @28xt1.0 isDP2810-i

5572 PROFLTEAM LATINA 5.

SISTEMAS DE MONTAJE

Color Code

| = Ivory

N = Green

U = Blue

S = SkyBlue

K = Dark Blue

G = Gray

M = Metallic Gray
Y = Dark Gray

B = Black

L = Black Stripe ESDIvory
W = White

R =Red

O =Orange

A = Brown

RG = Rock Gray
YE = Yellow

P =Pink



PIPES - 1us0s BNl

NUMBERING SYSTEM Unit: mm

DP2807-X | EP2807-X | @28%t0.7 505

DP2809-X = EP2809-X = @28xt0.9 630
D-Coated  DP2810-X | EP2810-X  @28xt1.0 700

PIPe  Dpog1a-x | EP2814-X  @28xt1.4 830
DP2820-X  EP2820-X  @28xt2.0 1,130
DP3210-X - o32xt1.0 810

D-S(PI%ed SD2805-X - @28xt0.5 395

CS2807-X = ES2807-X @ @28xt0.7 582
Slide | CS2809-X  ES2809-X  @28xt0.9 650
Pipe | ¢S2810-X | ES2810-X  @28xt1.0 767
CS2820-X | ES2820-X @28xt2.0 690

Full | FS2807-X  FS2807-E  @28xt0.7 505
SI'ide
Pipe | FS2809-X = FS2809-E  @28xt0.9 630

LS2809-X = LS2809-E @ @28xt0.9 690
L-Slide
Pipe

LS2810-X LS2810-E | @28xt1.0 750

CF2807-X | EF2807-X | @28%xt0.7 = 606
CF2809-X | EF2809-X | @28xt0.9 720
CF2810-X | EF2810-X | @28%xt1.0 790

Flat
Pipe

Black - CL2807-X @28%t0.7 505
Stripe
Pipe - CL2810-X | @28xt1.0 690

RC2809
(Roller Conveyor)

C
C
O
O

W-Pipe @28xt0.9 570

Pipe
G2807-X | EG2807-X  ©@28xt0.7 475
G2809-X | EG2809-X  ©@28xt1.0 600
G2812-X | EG2812-X  @28xt1.2 800
G2820-X | EG2820-X @28xt2.0| 1100
72808 228xt0.8 | 550

S2807-PF @28xt0.7 | 448

Powder
Pipe

Polished

. S2809-PF 228xt0.9 581
Pipe

S2812-PF @28%xt1.2 | 760
% Standard Length - 4,000

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




PIPES - 1us0s o)

COLOR TABLE _
Unit: mm
Classification Standard Length : 4000
Standard Eco Pipe Coated Pipe
Color @28 @28 @28 @28 228 @28 @28 @28 @28
xT0.7 | xT0.9 | xT1.2 = xT2.0 | xT0.7 @ xT0.9  xT1.0 | xT1.4 xT2.0
Ivory ° ° ° ° ° ° ° ° °
Q
Green ° ° ° ° ° ° ° ° °
Blue - - - - ° ° ° ° °
lelljye - - - - [ ) [ ] [ ] [ ) [ )
Dark Blue ° ° ° ° ° ° ° ° °
Normal
Pipe
Gray T e . . . . . . . .
2?;'; - - - - o o . . o
gfarl; - - - - [ ) [} [ ] [ ) [ ]
Black / ° ° ° ° ° ° ° ° °
White ° ° ° ° ° ° ° ° °

m ProFI-TEAM LATINA s B

SISTEMAS DE MONTAJE



PIPES - Tuz0s N7

Unit: mm
Classification Standard Length: 4000
Standard Eco Pipe Coated Pipe
Salor @28 228 228 328 328 @28 228 228 228
xT0.7 xT0.9 xT1.2 xT2.0 = xT0.7 xT0.9 xT1.0 xT1.4 = xT2.0
Red - - - - ° ° ° ° °
Orange - - - - ° ° ° ° °
Brown - - - - ° ° ° ° °
Normal
Pipe
Yellow \ ° ° ° ° ° ° ° ° °
J
Pink - - - - ° ° ° ° °
Spiral % - - - - - - ° _ -
ESD Pipe Ivory ¢ - - - - - - ° - _
Antistatic:
10°0Q
~10'°Q PN
Gray ; ° ° ° ° ° ° ° ° °
ESD Pipe Black ° ° ° ° ° ° ° ° °
Conductivity:
10°Q
~106Q
Black _ _ ~ ~ . _ _ _ .
Stripe

m ProFI-TEAM LATINA s n

SISTEMAS DE MONTAJE



PIPES - TUBOS D-coateD PIPE

FEATURES OF D-COAT PIPE

Special Resin
ABS Resin

Adhesive
(To bond plastic

Resin to steel pipe) .2 Pronreamismac

Steel Pipe

Rust Inhibitor

1. Steel Pipe is coated with ABS and final coated with newly developed material by Profi-Team.

2. Compared to the conventional ABS coating pipe, D-Coat Pipe is outstanding in oil resistance
and chemical resistance. In particular, salinity, rust preventative oil or cutting oil does not
cause cracks or discoloration of the pipe.

3. This product comes in a variety of colors for use in various items or per company’s image.

4. With outstanding durability, this pipe is easily processed. Rustproof coating inside the pipe
provides superior corrosion resistance.

% D-Coat Pipe is printed with

CHEMICAL RESISTANCE OF COATING PIPE

- Test Result . Test Result
Chemical Chemical
Method  p-COAT  ABSCOAT Method  p-cOAT  ABSCOAT
Rust . Transmission Oil = Coatin @)
PreventativeOil  °3ting O A 9
i i . Hair Spray Coating @) ®)
%g\jivgarg Chloride '~ tin, g o «
Permanent .
; Coatin O @)
Brake Oil Coating 0O x Solution 9
UVR Radiati Pesticide Coating @) @)
ay ation © = Sterilizer Coating O 9)
Cutting Oil Coating O X
Dishwashing . Liquid Fertilizer  Coating O O
Detergent Coating O A
Laund . Soybean Oil Coating O X
Detergr(}e/nt Coating o o
Bathroom . Bleach Coating O 0
Detergent Coating O o
Methyl iy Ethanol Deposition @) 0)
Ethyl Keton Depositon X X ”
Toluene Deposition X X
Ethylene Glycol | Deposition O @)

1. Test Condition-Test by depositing pipe in or coating it with the designated chemical for 30 days
2. Notes - O : No change

A\ Change was observed, but the pipe is still usable.

Xt Resin melted or crack occurred.

5572 PROFLTEAM LATINA 5.

SISTEMAS DE MONTAJE



PIPES - TUBOS Eco/sTspipE

THE ADVANTAGES OF ECO-PIPE

Powder Paint i

Poncing Stesl Pipe

“— Powder Painl

1. Environmental 3. Colorful

- ECO-pipe is fully recyclable. - Wider selection of colors and textures.
Powder painted steel pipe of internal and
external surface 4. Chemical resistant

- High resistant to oil, UV light, and corrosion.
2. Economical
- 20% less than coated pipe 5. Non-flammable
- 35% less than ESD coated pipe - No emission of toxic fumes in fire.
- 30% less than stainless steel pipe
6. Electrolytic Corrosion Free
- Free of Electrolytic Corrosion.

THE ADVANTAGES OF STAINLESS PIPE STS PIPE VS. COATED PIPE BENDING STRENGTH
Bending Strength (kgf)
1. Environmental 160 155
- Stainless pipe which is 100% recycable 140
120
2. High Strength & Durability 100
- Surface resistant to light abrasion or contact %0
with metal tools 60
40
3. High Oil & Chemical Resistance 20
- High resistance to oil, solvents, bleaches, etc. 0
STS Pipe t0.9 Coated Pipe t0.9
4. Non-Flammable (Weight-5819) ~ (Weight-630g)
- Inherently non-flammable. (Pipe Length L = 900mm) b
Steinless
5. Conductive F‘ipE

- Inherently conductive

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




m PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE

METAL JOINTS - uNIONES METALICAS

Innovated Joints with
Assembly Help Lines

The Most
Innovated Joints METAL JOINTS - SERIES FEATURES
IS Iesis » Newly developed and patented design for @28 stainless steel pipes.
s Sarles Joint - Excellent grip characteristics achieved by introducing series of protruded
pyramids in contact with stainless steel pipes.
i ! 'x « When used with coated pipes, grip is enhanced by 30%
8 e
F hola? e SURFACE TREATMENT & CODE NUMBER
A
; == Code Surface Treatment Remarks
e N : ‘
o e e - BK | Black Coating Non Chrome
: =] . . .
s et WZ | Zinc Plating (White) Cro3
e T T g
o Ni  Nickel Plating

Non Chrome
Pl | Powder Coating (lvory)

Bl



METAL JOINTS - unionEs METALICAS %@n QOI

FOR @28 (S-SERIES)

COLOR: @BK OWZ @ NI OPI
Unit - mm

G1S

» Weight :0.068kg
* Q'ty/Box:240pcs

» Weight :0.061kg
* Q'ty/Box:240pcs

» Weight :0.095kg » Weight :0.120kg
* Qty/Box: 150pcs * Q'ty/Box:70pcs

42
1
<A

» Weight :0.048kg
* Qty/Box: 180pcs

» Weight :0.105kg
* Qty/Box: 180pcs

» Weight :0.042kg
* Q'ty/Box:240pcs

» Weight :0.046kg
* Q'ty/Box: 180pcs

» Weight :0.044kg
* Q'ty/Box:300pcs

» Weight :0.052kg
* Q'ty/Box:300pcs

5572 PROFLTEAM LATINA 5. m

SISTEMAS DE MONTAJE



METAL JOINTS - uNiONES METALICAS %@1 ﬂo,l

FOR @28 (S-SERIES)

COLOR: @BK OWZ @ NI OPI

Unit: mm

» Weight :0.062kg
* Q'ty/Box:210pcs

» Weight :0.04%g
* Q'ty/Box:300pcs

» Weight :0.060kg
* Q'ty/Box:210pcs

» Weight :0.120kg
* Q'ty/Box: 100pcs

e“"“L A.\\

» Weight :0.063kg » Weight :0.062kg
* Qty/Box: 160pcs * Qty/Box: 160pcs

» Weight :0.052kg » Weight :0.040kg
* Qty/Box:270pcs * Qty/Box:480pcs

« Weight :0.037kg = « Weight :0.046kg
* Qty/Box:480pcs * Q'ty/Box:300pcs

ProFI-TEAM LATINA 5 m -
SISTEMAS DE MONTAJE




METAL JOINTS - unionNES METALICAS O<_>0

FOR @28 (S-SERIES)

COLOR: @BK OWZ @ NI OPI
Unit - mm

G-15D

» Weight :0.048kg
* Q'ty/Box:300pcs

» Weight :0.04%g
* Q'ty/Box:300pcs

» Weight :0.057kg
* Qty/Box:200pcs

» Weight :0.057kg
* Qty/Box: 180pcs

» Weight :0.085kg
* Qty/Box: 150pcs

» Weight :0.064kg
* Qty/Box:200pcs

» Weight :0.092kg
* Q'ty/Box: 150pcs

» Weight :0.050kg
* Q'tty/Box:360pcs

» Weight :0.043kg » Weight :0.042kg
* Q'ty/Box:360pcs * Q'ty/Box:300pcs

M PROFI-TEAM LATINA sa m

SISTEMAS DE MONTAJE



METAL JOINTS - uniONES METALICAS %@1 ﬂo,l

FOR @28 (S-SERIES)

COLOR: @BK OWZ @ NI OPI

Unit: mm

G305

» Weight :0.050kg » Weight :0.060kg
* Q'ty/Box:240pcs * Q'ty/Box:240pcs

» Weight :0.105kg
* Qty/Box: 180pcs

» Weight :0.075kg * Weight :0.057kg
* Q'ty/Box:240pcs * Q'ty/Box:300pcs

D
) \Q?‘)
/&

» Weight :0.070kg
* Qty/Box:270pcs * Q'ty/Box:200pcs

Design Patent

» Weight :0.099%g » Weight :0.076kg
* Qty/Box: 120pcs * Qty/Box:200pcs

ProFI-TEAM LATINA < m -
SISTEMAS DE MONTAJE



METAL JOINTS - unIONES METALICAS O<_>0

FOR @28 (S-SERIES)

COLOR: @BK OWZ @ NI OPI
Unit - mm

G655 For@5 G-655-10 For@10

» Weight :0.038kg
* Q'ty/Box:480pcs

» Weight :0.0380kg
* Q'ty/Box:480pcs

G66 Material : Aluminium

» Weight :0.096kg
* Q'ty/Box: 100pcs

» Weight :0.042kg
* Q'ty/Box: 160pcs

» Weight :0.074kg
* Q'ty/Box: 180pcs

» Weight :0.074kg
* Q'ty/Box:200pcs

*For@286 *For@286

+ Weight :007kg + Weight :0.070kg

*Forconnection atthetopofjoint * Qty/Box:240pcs » Qty/Box: 240pcs

G-105

e !
w2 » Weight :0.080kg » Weight :0.078kg
* Q'ty/Box:200pcs * Q'tty/Box: 200pcs

Pron e Lo e




METAL JOINTS - uNiONES METALICAS %@1 ﬂo,l

FOR @28 (S-SERIES)

COLOR: @BK OWZ @ NI OPI

Unit: mm

G-1355

G-110S

DesignPatent

* Weight :0.102kg

» Weight :0.103kg
* Q'ty/Box: 100pcs * Q'ty/Box: 100pcs

» Weight :0.105kg » Weight :0.128kg
* Qty/Box: 100pcs * Qty/Box:50pcs

Example for GA-155

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




METAL JOINTS - unionNES METALICAS O<_>0

FOR @28 (S-SERIES)

COLOR: @BK OWZ @ NI OPI

GA-1S

Unit - mm

Material Metal
G-1S 2pcs
MO0625/TN06 1set
GA-1BS
? Material Metal
G-1BS 2pcs
M0625/TN06 1set
GA-2S
Material Metal
G-2S 1pcs
G-3S 1pcs
MO0625/TN06 2set
GA-3S

Material Metal
G-2S 2pcs
G-4S 1pcs
' M0625/TNO6 3set
i |
G

4

5572 PROFLTEAM LATINA 5. m

SISTEMAS DE MONTAJE

Material Metal
G-4S 2pcs
MO0625/TN06 2set




METAL JOINTS - uniONES METALICAS %@ﬂol

FOR @28 (S-SERIES)

COLOR: @BK OWZ @ NI OPI

GA-55

Material Metal

G-2S 4pcs

M0625/TN06 4set
GA-6S

A

¢

Unit: mm

Material Metal
G-6S 2pcs
MO0625/TN06 1set

Material Metal 363
CH

G-6BS 2pcs

MO0625/TN06 1set

G-6BS

-
)
(GA-6B-33)]
28.4 33
& R
Material Metal ; Q ) I 4fi /
G-6B-33 2pcs 2 5. M)
M0625/TNO6 1set i H [
235 ) ‘
3 32 L%Q

E—
1 + il
T - —+3 %
[S—
Material Metal Y
G-7AS 2pcs %
G785 2pcs 515 346 _ 30
M0625/TN06 2set 35 ] ‘ \
| — (
TN

M PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




METAL JOINTS - uNiONES METALICAS %@1 ﬂo,l

FOR @28 (S-SERIES)

COLOR: @BK OWZ @ NI OPI

GA-85

7

Unit - mm

Material Metal
G-8S 2pcs
MO0625/TN06 1set

Material Metal
G-9S 2pcs
MO0625/TN06 1set

Material Metal
G-12S 2pcs
GAP-12 1pcs
M0625/TN06 1set

G-13AS

Material Metal
G-13AS 1pcs
- G-13BS 1pcs
i 1 MO0625/TNO6 | 1set G-1388

=
-
N
s

) . Material Metal

f-': A= G-14S 2pcs
#" G-7BS 4pcs
‘ﬁ‘ M0625/TN06 4set

m ProFI-TEAM LATINA s

SISTEMAS DE MONTAJE




METAL JOINTS - unionEs METALICAS &@n QOI

FOR @28 (S-SERIES)

COLOR: @BK OWZ @ NI OPI

N

=

f
28

Unit: mm

33

124
&
182 %6

Material Metal

G-15AS 1pcs

G-15BS 1pcs 51

M0610 1pcs @

e

67.5

Material Metal

G-15D 1pcs

G-15BS 1pcs

M0610 1pcs

GA-15H

—//
: 8| <
Material Metal :g

G-15AH 1 pcs L @4.5

G-15BS 1pcs 208

M0610 1pcs I

Material Metal
G-16S 2pcs
PW8x25 2pcs
Material Metal
G-17S 2pcs
GAP-12 1pcs
MO0625/TN06 1set

5572 PROFLTEAM LATINA 5. m

SISTEMAS DE MONTAJE



METAL JOINTS - unionEs METALICAS

FOR @28 (S-SERIES)

od Go

COLOR: @BK OWZ @ NI OPI

Unit - mm

GA-18S

GA-20S

GA-245

GA-255

| GA-255
/3

GA-25C

Material Metal
G-18S 2pcs
GAP-12 2pcs
M0625/TN06 1set
81.5
a4l
g + Ko e gs
- VT
Material Metal py e
G-20S 1pcs
G-1S 1pcs 515 30
M0625/TN06 1set
NEED)
I8 SR st s s I
| Hjae@ @FH He” S
Material Metal 2 L] ok N0 T GAP-12
G-24S 2pcs = 6
GAP-12 Tpcs ‘ T ‘ G-248
MO0625/TN06 2 set /—‘T = 7
L[] L
]
—%E’i%@ e
Material Metal | | s 0:
1
G-25AS 1pcs 28
G-25BS 1pcs 545
y
GAP-12 1pcs
M0610 1pcs N
\I 73 I T
Material Metal
G-25C 2pcs
GAP-12 1pcs
M0825/TN08 2set

5572 PROFLTEAM LATINA 5.

SISTEMAS DE MONTAJE




METAL JOINTS - uniONES METALICAS %@1 ﬂo,l

FOR @28 (S-SERIES)

COLOR: @BK OWZ @ NI OPI
Unit: mm

GA-275

Material Metal
G-7CS 2pcs
G-7BS 2pcs
MO0625/TN06 3set

Material Metal
G-28 2pcs
MO0625/TN06 1set

Material Metal
G-30S 2pcs
M0625/TN0O6 1set

.
Material Metal — +@§,
115

G-34S 2pcs
MO0625/TN06 2set | 130 |

S
T
| |

T
33
I

Joint for assembling with
upper Joint

Material Metal N
G-35AS 1pcs

G-35BS 1pcs L]
337

GAP-56 1pcs 545

M0610 1pcs @

PROFI-TEAM LATINA sa m -
SISTEMAS DE MONTAJE

-

o=
|

40

56

q

37




METAL JOINTS - uNiONES METALICAS %@1 ﬂo,l

FOR @28 (S-SERIES)

COLOR: @BK OWZ @ NI OPI

Unit - mm

I
I
11
I
33

Material Metal : !
28 28
G-38S 2pcs 64 %H

M0625/TN06 1set 78

o
)ll
—

81

Material Metal _ %& bl ﬂH _g;L
G-44 2pcs :
MO0625/TN06 1set 2 21 30

— @?TJML

2 _u_u_,—l-_u_u_ 1 ) G-44

Material Metal
G-45S 2pcs
MO0625/TN06 1set

!

948

Material Metal
G-54S 1pcs
G-4S 1pcs
MO0625/TN06 2set

Material Metal
G-22S 4pcs
GAP-12 1pcs
MO0625/TN06 4set

PROFI-TEAM LATINA sa m -
mmmmmmmmmm




METAL JOINTS - unionEs METALICAS

FOR @28 (S-SERIES)

N

COLOR: @BK OWZ @ NI OPI

Unit: mm

GA-60S

Material Metal
G-60S 2pcs
M0625/TN06 1set
3 For I
GA-65S5 IUE i L
T T -
Material Metal j
G-65S 2pcs j:
MO0610/TNO6 1set
\ &\'\

(.Sl For@10
Material Metal
G-65S-10 2pcs
M0615/TNO6 1set

(c)-X M Material : Aluminium
Material Aluminum
G-66 2pcs
M0625/TN0O6 1set

GA-90S
Material Metal
G-90S 2pcs
M0625/TN0O6 1set

5572 PROFLTEAM LATINA 5.

SISTEMAS DE MONTAJE




METAL JOINTS - unionEs METALICAS

FOR @28 (S-SERIES)

od Go

COLOR: @BK OWZ @ NI OPI

Unit - mm

| GA-101 |

Material Metal

G-101 2pcs

MO0625/TN06 1set

GA-102
¢

Material Metal

G-102 2pcs

M0625/TN0O6 1set

%,
=0 T T 4
ﬁ%é@\—ﬂ—ﬂ— X 1
L=
Material Metal i ;‘ i T
G-103 2pcs H\< 84
MO0625/TN06 1set f
54 30
35
Joint for assembling with = -
upper Joint 2 — g_ﬁ
L

|

Metal

2pcs

1set

Material
G-104
MO0625/TN06
LY F
r‘l‘ -

=
-
=

GA-105

Metal

2pcs

1set

e
Material
G-105
M0625/TN06
Y

M PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




METAL JOINTS - unionEs METALICAS O<_>0

FOR @28 (S-SERIES)

COLOR: @BK OWZ @ NI OPI

GA-106

Unit: mm

Material Metal
G-106 2pcs
M0625/TN06 1set

MO0625/TN06 2set

GA-110S
Design Patent
Material Metal
G-110S 2pcs

GA-1355

Material Metal
G-135S 2pcs
MO0625/TN06 2set

Material Metal
G-160S 2pcs
M0625/TNO6 2 set

l%!)l

SISTEMAS DE MONTAJE

5572 PROFLTEAM LATINA 5. E



m PROFI-TEAM LATINA sa.

SISTEMAS DE MONTAJE

PLASTIC JOINTS - UNIONES PLASTICAS

Comprehensive Production from oard

manufacturing to assembly




PLASTIC JOINTS - UNIONES PLASTICAS %i?fﬂ

COLOR: vory (D) GrayG Green( Esd@

Unit: mm

(¢):\:5 M Plastic Joint

1
T
Material ASA I # E¥ R
Weight 0.030kg :— | —: O :— i _: B
Q'ty/Box 150pcs | @ | GAP-O1
= 34 34
9’ S~ Jf o — J( B
O
&5
<
)
(=1
67
60
i =7
Material ASA gJ’E__(_ NN
Weight 0.045kg === 5
Q'ty/Box 75pcs | i I8
28
fcrnl
N
(T\Z1: Plastic Joint (Through part)
r—.67 - 67
i AN N ] GAP-028
ASA 8 — 5 [T e
Material S %:777-( #/8 R -
Weight 0.048kg - 9 ¥4 4
Q'ty/Box 75pcs 8 : I !
il | s |
¥Jf—\ \J( B
(C:\at3l Outer Cap
GAP-03
Material ASA S
Weight 0.009kg —
Q'ty/Box 900pcs
C-\ I Inner Cap
GAP-4P
‘o] 28
-« = Material LDPE K
- Weight 0.003kg © { i—ti
Q'ty/Box 1500pcs *M
m PROFI-TEAM LATINA sa .

SISTEMAS DE MONTAJE




PLASTIC JOINTS - UNIONES PLASTICAS %%

COLOR: vory (D) GrayG  Green(d Esd@

| GAP-4C/4S LS

Unit - mm

GAP-4C/4S
_ o B4
— Nl
E — Material LDPE |
i Weight 0.003kg S T%
Q'ty/Box 1500pcs ‘
$24.4
€7\ '8 Rubber Cap
GAP-4R

3

32
20

Material TPU L
Weight 0.009kg ‘ ‘
| Q'ty/Box 900pcs =
* Color : BK t J \J
(CT.\SEW Plastic Joint Comer
67
—
== Y a8
Material ASA ~ Q- +
| N ~
Weight 0.032kg r Jr 1 r 4‘/7 © 6AP-05
Q'ty/Box 150pcs l | l l | l
2
5 54
ml | o |
i N

37

20

30

(¢7:\:a M Label Holder

92
—EI% GAP-6
Material ABS 1
Weight 0.005kg 3
Q'ty/Box 1200pcs 1<
)
L20]
GAP-6B
Material ABS
Weight 0.005kg
Q'ty/Box 1200pcs ‘ -
T - : - 4; LA-D
L20]

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




PLASTIC JOINTS - UNIONES PLASTICAS

X

2

SN2

COLOR: vory (D) GrayG Green( Esd@

Unit: mm

Plastic Joint

S
022 %[
Material ABS 'Lesd
Weight 0.011kg |
Q'ty/Box 450pcs EE’%—“ ! ‘[ ﬂ
ST
L21] 27 |
(V.3 Horizontal Holder
Material ABS
Weight 0.005kg
Q'ty/Box 1200pcs
FIXETY Horizontal Holder (Flat Type)
Material ABS
Weight 0.005kg
Q'ty/Box 1200pcs
GAP-9C-07 Grip Bushing (Coating Pipe:@28xT0.7) 23
P*
T
Material NYLON66 © Al o
Weight 0.016kg ) —
Q'ty/Box 450pcs ! U ‘ U ‘
9, ! \
* Color : BK Q A )
154 \ &v} ’

(€72 [&€0] Grip Bushing (Coating Pipe:@28xT0.9)

P*
(TFF
Material NYLONG6 s
Weight 0.016kg = of
T
Q'ty/Box 450pcs i
* Color : BK ) ‘U U‘ |

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




PLASTIC JOINTS - UNIONES PLASTICAS %%

COLOR: vory (D) GrayG  Green(d Esd@
Unit:mm
Grip Bushing (STS Pipe:@28xT0.7)
225.8 F‘)(
Material NYLONG66
Weight 0.016kg
| Q'ty/Box 450pcs

ﬂ * Color : BK

(e).\:3[1]:¥ Plastic Joint (Right side handle)

Material ASA

. |
Weight 0.042kg
Q'ty/Box 120pcs

(e]::2 (/M Plastic Joint (Left side handle)

r Material ASA
Weight 0.042kg
Q'ty/Box 120pcs

(- Bl Taper Edge

Material ABS
Weight 0.005kg
Q'ty/Box 1200pcs

When moving the box, GAP-11
can prevent from hanging

[TV Sleeve (For GA-125/175/185/245/255)

Material PE
X b
Weight 0.007kg
Q'ty/Box 600pcs ::_, £
| P T !
* Color : White et { SRS

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




PLASTIC JOINTS - UNIONES PLASTICAS E\%ﬁj

COLOR: vory (D) GrayG Green( Esd@
Unit:mm

(C1:\:imEW Plastic Joint Comer

—
&

Material ABS 8

Weight 0.059kg

Q'ty/Box 75pcs

Material ABS
Weight 0.075kg
Q'ty/Box 75pcs
Sheet Holder
Material ABS
Weight 0.003kg
Q'ty/Box 1500pcs
(TN W Plastic Joint
i \J(—\
-\-\'I-
~_ }
e T E,*,r*g,* GAP-16
Material ASA 3‘4 |
Weight 0.018kg i
205
Q'ty/Box 300pcs _
yl P Ca —
3s
N g RN
2 L7
S o
o ]
Material ABS B Y
Weight 0.014kg 5067
Q'ty/Box 400pcs
T 1
s 3,
8[12] 30 |

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




PLASTIC JOINTS - UNIONES PLASTICAS %%

COLOR: vory (D) GrayG  Green(d Esd@

Unit - mm
(e).\:5 K7 Plastic Joint (Block one side)
 — Ti
Material ASA I—i‘l e CQ’
Weight 0.023kg ! i L
Q'ty/Box 240pcs 28 ‘ \ ‘ GAP-TBA
34 34
A A
(cr.imk::] Plastic Joint
o
Material ASA ° :‘: S N
©
Weight 0.022kg :’ | ": ‘T | 7|
Q'ty/Box 240pcs | | GAP-188
28 ‘ | ‘
34 34
A A
(V- 'l Plastic Joint
Material ASA F_WSO
Weight 0.009kg oo
Q'ty/Box 750pcs %25
(c/:\\27{'l Name Plate Holder
Material ABS o . . .
Weight 0.006kg D = -
Q'ty/Box 1200pcs 136 |38
40.8 20
CY:-\i?X Y Plastic Joint
Material ABS
Weight 0.020kg
Q'ty/Box 1500pcs
Bolt : M3x20
Nut : M3

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




PLASTIC JOINTS - UNIONES PLASTICAS %i?fﬂ

COLOR: vory (D) GrayG Green( Esd@
Unit: mm

(€Y:\\:ZV Plastic Joint

Material ASA
Weight 0.060kg
Q'ty/Box 75pcs - GAP-24A
wv
'_
=
Q
O
'—
v
< T
= KC:\rZ:1}Y Plastic Joint (Through part)
Material ASA
Weight 0.057kg - oAp24B
Q'ty/Box 75pcs
GAP-25A
Material ASA
Weight 0.075kg
Q'ty/Box 45pcs

(€):\\?41:] Plastic Joint (Through part)

GAP-25B
Material ASA
Weight 0.072kg
Q'ty/Box 45pcs
(CV:\Z1T.Y Plastic Joint

- Material ASA 3
Weight 0.055kg - GAP-26A
Q'ty/Box 75pcs 3

85z2) ProOFI-TEAM LATINA 51
SISTEMAS DE MONTAJE



PLASTIC JOINTS - UNIONES PLASTICAS %i?fﬂ

COLOR: vory (D) GrayG  Green(d Esd@

(€):\i¥LL:] Plastic Joint (Through part)

Unit - mm

Material ASA R
Weight 0.054k L:m; 2
- 9 g - @ gl GAP-26B
Q'ty/Box 75pcs ) ) LS
T Bs
(]

(Y:\\:¥¥)Y Plastic Joint

100
—0 125530
Material ASA b HQDEE D
Weight 0.035kg GAP-27A
Q'ty/Box 150pcs

(€):\\:¥¥:] Plastic Joint (Through part)

100
12030 ]
Material ASA 7N
Weight 0.033kg ’” H@EE <
Q'ty/Box 150pcs M~ GAP-27B

Material ASA

GAP-28A
Weight 0.046kg
Q'ty/Box 90pcs

(€):\;a#2::] Plastic Joint (Through part)

Material ASA GAP-288
Weight 0.044kg
Q'ty/Box 90pcs

>
: L%J
y S [c3 r:l:"| E
. ' . : =
2 | ) | 3+4JJ — I

5ol Pronremummn.. e



PLASTIC JOINTS - UNIONES PLASTICAS

Rz

COLOR: vory (D) GrayG Green( Esd@

Unit: mm

(€7:\i2rA2)Y Plastic Joint

PLASTICJOINTS

[TV {VLY Plastic Joint

(€):\\ae{0}] Plastic Joint

(7. \:ECA M Plastic Joint

85z2) ProOFI-TEAM LATINA 51

SISTEMAS DE MONTAJE

GAP-29A
Material ASA
Weight 0.045kg
Q'ty/Box 90pcs
(CL\@¥2]:] Plastic Joint (Through part)
GAP-29B
Material ASA
Weight 0.043kg
Q'ty/Box 90pcs
( ; ! GAP-30A
DA S T i T
Material ASA ‘ Eud |
Weight 0.026kg —
Q'ty/Box 210pcs 7D r&?ﬁi _]
77777 NS L] J%g
i N
) e \§
\Jlf\
|
M1 GAP-30B
Material ASA DN i #ES] -~
Weight 0.025kg N
Q'ty/Box 210pcs T
( 7
*ﬁb’ﬂjﬂw*
S NP8
D I
Material ASA rtq b
Weight 0.020kg | i |
Q'ty/Box 210pcs | GAP-31
34
N



PLASTIC JOINTS - UNIONES PLASTICAS [?\irf/ﬂ

COLOR: vory (D) GrayG  Green(d Esd@

Unit :mm
V.V e Plastic Joint
15 GAP-34
Material ASA ol
Weight 0.014kg ::
Q'ty/Box 500pcs I
Coa T
Lo _J
GAP-35 RN
GAP-35
Material NYLON66
Weight 0.015kg
Q'ty/Box 300pcs
(CTVSE¥/AY Plastic Joint
Material ABS
Weight 0.011kg
i Q'ty/Box 600pcs
(CY:\2kY¥/}] Plastic Joint
Material ABS
Weight 0.019kg
Q'ty/Box 300pcs
[T\l Plastic Joint
Material PP
Weight 0.047kg
Q'ty/Box 120pcs

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




PLASTIC JOINTS - UNIONES PLASTICAS

N

COLOR: vory (D) GrayG Green( Esd@

Unit: mm

(e7:\:Z: [Vl Plastic Joint

GAP-40

N 4
Material NYLON66 =
Weight 0.034kg
Q'ty/Box 150pcs 05 39
7\ YW Plastic Joint
Material ASA GAP-41
Weight 0.030kg
Q'ty/Box 150pcs
(cY:\2Z:YH Plastic Joint
GAP-42
Material ASA
Weight 0.045kg
Q'ty/Box 90pcs
GAP-43 Plastic Joint
Material NYLON6 L ]
Weight 0.028kg Y
Q'ty/Box 150pcs L |
)

o

RNZYY Sleeve (For GA-125/175/185/245/255)

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE

Material PE

Weight 0.012kg

Q'ty/Box 200pcs
i' * Color : White

353




PLASTIC JOINTS - UNIONES PLASTICAS %%

COLOR: vory (D) GrayG  Green(d Esd@
Unit:mm

(V7. Plastic Joint

Material ASA
Weight 0.060kg GAP-45A
Q'ty/Box 75pcs

Material ASA GAP-45B
Weight 0.060kg
Q'ty/Box 75pcs
€7\ [l Plastic Joint
‘\ Material ABS
Weight 0.013kg
Q'ty/Box 450pcs

(€):\\: YA Plastic Joint (Length adjustment)

Material ABS

Weight 0.030kg

Q'ty/Box 180pcs

(L. E W Plastic Joint
GAP-53

Material ASA

Weight 0.014kg

Q'ty/Box 450pcs

ProFI-TEAM LATINA < m -
SISTEMAS DE MONTAJE




PLASTIC JOINTS - UNIONES PLASTICAS

B

COLOR: vory (D) GrayG Green( Esd@

Unit: mm

7\ 3 Roller Conveyor Holder (Single)

Material ASA
Weight 0.013kg
Q'ty/Box 500pcs

s

GAP-48 %

(e]:\:Z:CH Roller Conveyor Holder (Double)

Material ASA
Weight 0.017kg
Q'ty/Box 400pcs

(J:\\2:1/l Roller Conveyor Cap (Without Bearing)

Material POM
Weight 0.008kg
Q'ty/Box 1200pcs

@31.7

(e/.\:Z3M Roller Conveyor Support

Material POM
Weight 0.007kg
Q'ty/Box 1200pcs

(e):\:Zy1: W Roller Conveyor Cap (With Bearing)

Material ABS
Weight 0.013kg
Q'ty/Box 1500pcs

5572 PROFLTEAM LATINA 5.

SISTEMAS DE MONTAJE

GAP-52A



PLASTIC JOINTS - UNIONES PLASTICAS %%

COLOR: vory (D) GrayG  Green(d Esd@

Unit - mm

(e).\:ZY'W Plastic Joint

GAP-54
Material ASA
Weight 0.025kg
Q'ty/Box 150pcs

(7\\:ZSEM Name Plate Holder (Assembled NP-B)

Material ABS
Weight 0.009kg
Q'ty/Box 750pcs
(VST Sleeve(For GA-355)
Material PE
Weight 0.010kg
Q'ty/Box 300pcs
* Color : White

(e)-\:Z 3 Plastic Joint

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE

Material PVC
Weight 0.008kg
Q'ty/Box 450pcs
GAP-61
Material ABS
Weight 0.015kg
Q'ty/Box 400pcs




PLASTIC JOINTS - uNIONES PLASTICAS TN

COLOR: vory (D) GrayG Green( Esd@
Unit: mm
(e).\:Z7:'W Comer Support Joint
E ‘ Material ASA
' . Weight 0.165kg
Q'ty/Box 38pcs
Material ABS
Weight 0.015kg
Q'ty/Box 400pcs
Material ABS
Weight 0.022kg
Q'ty/Box 200pcs
Plastic Joint
OF

Material ASA

W'elght 0.029g _ ﬂ__ e

Q'ty/Box 150pcs 3 i | )es I

GAP-71
U
50
67

Material ASA

Weight 0.014kg

Q'ty/Box 300pcs

After fixing GAP-71 into Pipe,
disassembling GAP-72 and
rotating, it could be fixed 90
degree

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




m PROFI-TEAM LATINA sa.

SISTEMAS DE MONTAJE

ROLLER TRACKS - CARRILERAS DE RODILLOS

GP-25 Series
GP-35 Series
GP-40 Series
GP-60 Series
GP-70 Series
GP-85 Series
GP-100 Series

Mounting Brackets

ROLLER TRACK NUMBERING SYSTEM

‘ SERIES/FRAME SIZE }—‘ \;‘ ROLLERTYPE ROLLER COLOR

] PITCH } A-ROUND D:LARGE M:MULTI WH: WHITE
B:FLAT HA:TAPER BF:FLEXIBLE GR: GRAY
CFLANGE S:SLIM BK:BLACK
SRSSTS COVERED ROLLER AL




ROLLER TRACKS - CARRILERAS DE RODILLOS TNy

SPECIFICATION

Unit: mm

Body Load Roller Shaft Roller Color

Standard

Material Capacity | Diameter | Diameter Length

(mm) (Kg-f) (mm) (mm)

Silent Roller Track

AL 60 @25 @3 2857 15° o o 3MT/AMT
o o o
@34 40
o o o
GI/AL 150 4 20° 3MT/AMT
@49 55 o o o
GPR4040SR @34 40 o
GPR6016S 100 @15 @4 16.67 o o o
GPR6033B Gl /AL 150 @30 04 33.33 2.5° o o o 3MT/AMT
GPR6033HA 150 230 4 33.33 o
@ GPR7042B o o
O @34 42 3.5°
= GPR7042BF AL 200 @5 o 3MT/AMT
=
e GPR7021BFS-2 2176 21 - o
—_
> GPR8523S 200 @205 225 o o o
&=
GPR8545B o o o AMT
Gl /AL @40 @35 15°
GPR8545HA 300 45 o o
GPR8545SR @43 o 2MT
GPR1021BFS AL 250 2176 @5 21 - o 2MT/3MT
Standard Roller Track
GP3533B Gl 100 @28 @3 3333 25° o o o o o 3MT/4MT
o o o
36
o o o
@34
o o o
04 40
Gl 150 2.0° o o o 3MT/4AMT
@49 o o o
50
@43 o o o
@34 @33 25 o o o
100 @15 16.67 o o o
Gl o4 2.5° o o o 3MT/AMT
150 @30 33.33
GP6033HA o
GP7050BF Gl 200 @34 @5 50 3.5° o o 3MT/AMT
GP8525M @34 25 o o o
@5 2.5° 3MT/AMT
@40 43 o o
Gl 300
GP8550SR @43 @3.5 50 15° o 2MT
CURVE ROLLER
CR40A o o o
@34 R
CR40B PE 100 o4 76 2.0 ° o o -
CR40D @43 o o o
UNIVERSAL ROLLER TRACK
UR4050 100 @43 4 50 25° o o 3MT
AL
UR6067 200 @60 @5 66.7 3.0° o o 2MT

Pron e uama.. [




ROLLER TRACKS - CARRILERAS DE RODILLOS %%

GI-BODY SILENT ROLLER TRACK
GPR4040A/B-GI @) Eoller, Pitch: 40

Unit: mm

Body : Gl
Roller : PE
Q'ty/Bundle | 10ea

Material

Body : Gl
Roller : PE
Q'ty/Bundle | 10ea

Material

SYDVdL 3 T10d

(e NN EE]] Silent STS Covered Roller, Pitch: 40

Body : Gl
Roller : STS+PE
Q'ty/Bundle | 10ea

Material

(el X EEIN Silent Roller, Pitch: 16

Body : Gl
Roller : PE
Q'ty/Bundle | 10ea

Material

GPR6033B-Gl ST T 117 HEE]

|

. Body : Aluminum \
Material ———7—— /
Roller : PE :

Q'ty/Bundle | 6ea

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




od Go
ROLLER TRACKS - CARRILERAS DE RODILLOS B%&bé

Unit: mm

GPR8523S-Gl BT RoIIerJ Pitch:22.5

-

Body : Gl
Roller : PE
Q'ty/Bundle | 4ea

Material

Body : Gl
Roller : PE
Q'ty/Bundle | 4ea

Material

ROLLER TRACKS

Body : Gl
Roller : PE
Q'ty/Bundle | 4ea

Material

CHOICE FOR THE ROLLER TYPE

HA :TAPERTYPE
= -

.

bl

Ii .I __'--.__.

' 3

X Old box with the bent bottom will not be rolled over B Type X Old box with the bent bottom will be well-rolled over HA Type

e ———y

Pron e Lo e




ROLLER TRACKS - CARRILERAS DE RODILLOS %%

AL-BODY SILENT ROLLER TRACK
Silent Roller, Pitch: 28.6 N

Unit: mm

Material

Body : Aluminum

Roller : PE

Q'ty/Bundle

10ea

Material

Body : Aluminum

Roller : PE

Q'ty/Bundle

10ea

GPR4055C-AL HiE: Rroller, P_itch: 55

Material

Body : Aluminum

Roller : PE

Q'ty/Bundle

10ea

\

IZOEY/T:\R Universal Roller, Pitch: 50

F Body : Aluminum
Material ——————
Roller : Acetal
Q'ty/Bundle | 6ea

I CINIY\M Silent Roller, Pitch: 16
=

-

Material

Body : Aluminum

Roller : PE

Q'ty/Bundle

bea

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE

55,185 35
4]

SYDVYL H3ITI0H




od Go
ROLLER TRACKS - CARRILERAS DE RODILLOS [r\i_;ﬂl

Unit - mm

(c:(C10E%{:F7\\M Silent Roller, Pitch: 33

Body : Aluminum
Roller : PE
Q'ty/Bundle | 6ea

55 185 11

Material

Body : Aluminum
Roller : Acetal
Q'ty/Bundle | 4ea

Material

224 _206_ 23

ROLLER TRACKS

Body : Aluminum
Roller : PE
Q'ty/Bundle | 6ea

Material

(el:2¥A0:¥1:1 2T\ Silent Roller, Pitch: 42

Body : Aluminum
Roller : TPV
Q'ty/Bundle | 6ea

Material

(VAL pFAR Silent Roller, Pitch: 21
-

8

. Body : Aluminum
Material ——————
Roller : Urethane

Q'ty/Bundle | 6ea

M ProFi-TEAM LATINA ..

SISTEMAS DE MONTAJE




ROLLER TRACKS - CARRILERAS DE RODILLOS

Bz

Unit : mm

(el 2t:1yX57:\M Silent Roller, Pitch: 22.5

3 [ 7
o 2
Materia] Body :Aluminum & ‘ S
ateriall | —————— s
Roller : PE mg_‘ﬁ S Z -
Q'ty/Bundle | 4ea ©
Sl LE PN Silent Roller, Pitch: 45
-
Y 5
& |
Body : Al & @7 e
. ody : Aluminum a | ~
Material ——————
I Roller : PE <) g \
Q'ty/Bundle | 4ea /

Material

Body : Aluminum

Roller : PE

Q'ty/Bundle

dea

58 _ 291 10
4.5]
g% |
g
=
|
|
)
40

6.3J

Material

Body : Aluminum

Roller : STS+PE

Q'ty/Bundle

dea

291 127

Material

Body : Aluminum

Roller : Urethane

Q'ty/Bundle

dea

gi,—;ﬁ PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE

SYDvH1 437104




ROLLER TRACKS - CARRILERAS DE RODILLOS

N

STANDARD ROLLER TRACK

Unit: mm

GP-3533B  Jgita,MEX]

-

GP-4036A i HE]d
-

ROLLER TRACKS

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE

5 o,
. Body : Gl 8 |
Material ~
Roller : PE
Q'ty/Bundle | 10ea 165 _ P=33
‘ |
l |
o o o o o o o o fe) <
. Body : Gl
Material
Roller : PE
Q'ty/Bundle | 10ea
-
. Body : Gl
Material
Roller : PE
Q'ty/Bundle| 10ea
40
25
|
3 \
1 _ <
5 ﬁ% LK
Body : Gl
Material y 1 =
Roller : PE S
. 20 P=40
Q'ty/Bundle| 10ea TT—j
O o) o) O O [e) O
-
. Body : Gl
Material
Roller : PE
Q'ty/Bundle | 10ea

O o O O O O o <

sof



ROLLER TRACKS - CARRILERAS DE RODILLOS

N

Unit: mm

]/ [egl Pitch: 50

SYDVdL 3 T10d

(CFck]: 3 Pitch: 33

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE

3 22
| 2
S T
5 g e
Body : Gl m )
‘ L Material Y — E
Roller : PE
— Q'ty/Bundle| 10ea I E—
[e) O O
40
25
|
2
Body : Gl e
Material Y 3 | .
Roller : PE | ©
Q'ty/Bundle | 10ea 25 P=50
dADWdDWd DY
o o
24
[0
e
3 ~
wtl s
. Body : Gl gv
Material
Roller : PE 40
Q'ty/Bundle | 10ea 25 P=25
AT TN\
6 o o o o
60
45
- —— - 2
) Body : Gl g 8
Material -
Roller : PE &
Q'ty/Bundle | 10ea ﬁ‘j e i
[e) [¢) o O [¢)
60
45
= i
; - — - 88
. Body : Gl ° Lj‘ "
Material
Roller : PE
Q'ty/Bundle| 10ea 16.7_P=33.3

o

| |
p 0 0 0 0 0 0 0 {




ROLLER TRACKS - CARRILERAS DE RODILLOS

N

Unit: mm

]l el Pitch: 50

SYDVYL H3ITI0H

(0= k]: 3 Pitch: 33

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE

3 22
| 2
S T
5 g e
Body : Gl m )
‘ L Material Y — E
Roller : PE
— Q'ty/Bundle| 10ea I E—
[e) O O
40
25
|
2
Body : Gl e
Material Y 3 | .
Roller : PE | ©
Q'ty/Bundle | 10ea 25 P=50
dADWdDWd DY
o o
24
[0
e
3 ~
wtl s
. Body : Gl gv
Material
Roller : PE 40
Q'ty/Bundle | 10ea 25 P=25
AT TN\
6 o o o o
60
45
- —— - 2
) Body : Gl g 8
Material -
Roller : PE &
Q'ty/Bundle | 10ea ﬁ‘j e i
[e) [¢) o O [¢)
60
45
= i
; - — - 88
. Body : Gl ° Lj‘ "
Material
Roller : PE
Q'ty/Bundle| 10ea 16.7_P=33.3

o

| |
p 0 0 0 0 0 0 0 {




ROLLER TRACKS - cARRILERAS DE RODILLOS %%

Unit: mm

GP6033HA N HEE]

24 98 13
U
|
€
1
|
b 30
35

Roller : PE
Q'ty/Bundle | 6ea

Material

16.7_P=33.3
[
[

|
b 0 0 0 0 0 0 0 {

Body : Gl
Roller : TPU
Q'ty/Bundle | 6ea

Material

ROLLER TRACKS

67
|
)
mi —-—— i<
, Body : Gl % \
Material ————— | o
Roller : PE
Q'ty/Bundle | 4ea 215 P=43
T ]
/ANAY/AVAY/AWA
(@) )] [e) @] o @) (e)
C1%:1Y4] Yl Pitch: 25
- .
'Hlf' ' .
. Body : Gl
Material ——————
Roller : PE

Q'ty/Bundle | 4ea

i o
GP8550SR MM Covgred_EoIIer, Pitch: 50
-

Body : Gl
Roller : STS+PE
Q'ty/Bundle | 4ea

Material

PROF'-TEAM LATINAsa CO.LTD.
SISTEMAS DE MONTAJE E -




ROLLER TRACKS - CARRILERAS DE RODILLOS

od Go

Unit: mm

DR-40R Decelerating Roller

2

Maximum Box Brake Weight Per Slope

Material TPU Roller
Weigh 0.035k Qty  e=15  |0=20° [6=25° | 0-30° | 0=35° Remark
eight : 9 1set(2ea) 32Kg 25Kg 6Kg 4Kg 25Kg Roller Load
Q'ty/Box 120pcs 2set(4ea) - 32kg | 12Kg 9Kg 5Kg =14Kgf/ea
P 8
~ | —
o] P =
o)
Material PE = ’E
Q'ty/Box | 100pcs S
CR40A Roller A (Round) o3, ;
CR40B Roller B (Flat) - @ 1R
*;rzl—ﬂ‘ R
L e ]
Do
el 5
Material PE =
Q'ty/Box 100pcs
M5
T
n
Material Steel S
Weight | 0.055kg = o ¥
Yo}
Q'ty/Box 200pcs . O, °
‘ 28 || 23
38 L 326
ST Pioe Roller -L
38
C 1T
)] _ )
Material PE
Weight 0.037kg @ 1
\,, Q'ty/Box 150pcs = ATALED LT Jf:!ie“b g
\ ADIS DL LD

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




ROLLER TRACKS - cARRILERAS DE RODILLOS %%

Unit: mm

PR-02 Pipe Roller-S

Material PE
% Weight 0.022kg
' Q'ty/Box 210pcs

TR Stop Roller

Material PE .\

Weight 0.012kg
Q'ty/Box 450pcs

ROLLER TRACKS

s, -

Material Aluminum gk

Weight 0.046kg el AN

Q'ty/Box | 200pcs 3 L S wis St S

Ir:' --.-.-.-._ !

71 - &0 It
68.5 I ) - S

Material Aluminum

Weight 0.078kg

Q'ty/Box 40pcs

N\

(Loading) (Stopping Backflow)

PROFI-TEAM LATINAsa CO. LTD. -
SISTEMAS DE MONTAJE




ROLLER TRACKS - cARRILERAS DE RODILLOS %%

Surface Treatment-WZ

ROLLER TRACK MOUNTING BRKT (25 Series) - SOPORTES PARA CARRILERAS DE RODILLOS
Roller Mounting Bracket

Unit: mm

Material Steel
Weight 0.082kg
Qty/Box 90pcs 3
38
10
<
o)
o
| —
m
)
_|
Material Steel (;%
Weight 0.096kg &
Qty/Box 60pcs

m Roller Mounting Bracket / Center Support
SRR

"'-l"-' r"",i"l‘ N

<
- F 0
L N Material Steel “ L L]
\&’5"‘ Weight 0.057kg N
“ﬁ’: Qty/Box 120pcs Ej}\/&jﬂp&i«\xﬁjm
ﬁ w § : !
>

PProFi-TEAM LATINA <. E -
SISTEMAS DE MONTAJE




ROLLER TRACKS - cARRILERAS DE RODILLOS %%

ROLLER TRACK MOUNTING BRKT (35 Series) - SOPORTES PARA CARRILERAS DE RODILLOS

Surface Treatment-WZ

Unit: mm

GP-A35 Roller Mounting Bracket
-

Material Steel
Weight 0.111kg
Qty/Box 80pcs

ROLLER TRACKS

Material Steel
Weight 0.132kg
Qty/Box 60pcs

Material Steel
Weight 0.240kg
Qty/Box 70pcs

A\

Material Steel
Weight 0.132kg
Qty/Box 60pcs

Bracket for assembling with

upper Joint.

-~

PROFI-TEAM LATINAsa. GO, LTD.

SISTEMAS DE MONTAJE

4

GP-C35 Roller Track Union

39

Material Steel
Weight 0.148kg
Qty/Box 60pcs




ROLLER TRACKS - cARRILERAS DE RODILLOS %%

Surface Treatment-WZ

Unit: mm

GP-D35 Roller Mounting Bracket / Drop Stop

1
1] %%
< I
Material Steel l =
N~
Weight 0.130kg 35
Qty/Box 70pcs 505

65
26
T
O
I
[
o
o 275
~
=

Material

Weight 0.064kg @ A

Qty/Box 120pcs ?,E,L R i
“ia _@_
I

Material Steel

Weight 0.117kg

Qty/Box 60pcs

GP-HN35 Roller Track Union

4
-«
. Material Steel m]:

Weight 0.175kg
Qty/Box 36pcs NE—!

@
N}

W
)

Material Steel
Weight 0.210kg
Qty/Box 30pcs

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE

SYDVYL H3ITI0H




ROLLER TRACKS - cARRILERAS DE RODILLOS %%

Surface Treatment-WZ

Unit: mm

(c]:2Y/:S 3 Roller Mounting Bracket

Material Steel

Weight 0.190kg

Qty/Box 45pcs

The Roller track angle can

be changed e

ROLLER TRACKS

PROFI-TEAM LATINAsa. GO, LTD.
mmmmmmmmmm m -




ROLLER TRACKS - CARRILERAS DE RODILLOS

N

Surface Treatment-WZ

ROLLER TRACK MOUNTING BRKT (40 Series) - SOPORTES PARA CARRILERAS DE RODILLOS

Unit: mm

Roller Mounting Bracket

SYDVdL 3 T10d

Material Steel
Weight 0.141kg
Qty/Box 80pcs
Roller Mounting Bracket

Material Steel
Weight 0.142kg
Qty/Box 60pcs

TIW 84

Il I

52l o= =——
3 Nﬂ% .

Material Steel S =
Weight 0.124kg UM u
Qty/Box 80pcs

Bracket for 30X30 profile

i
5

Il Roller Mounting Bracket / Tab Stop
o«

< #

Material Steel
Weight 0.157kg
Qty/Box 60pcs

m Roller Mounting Bracket / Tab Stop

Material Steel
Weight 0.173kg
Qty/Box 50pcs

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE

72.6

445

%
—
3

i
l

-
P

43 283 30




ROLLER TRACKS - cARRILERAS DE RODILLOS %%

Surface Treatment-WZ

Unit: mm

a4

I EEI Roller Mounting Bracket / Tab Stop
‘

Material

Steel

Weight

0.174kg

Qty/Box

50pcs

mm Roller Mounting Bracket / Tab Stop

v

X

O

?_:: Material Steel

§ Weight 0.174kg

> Qty/Box 40pcs

o

Roller Track Union
3

Material Steel
Weight 0.121kg
Qty/Box 80pcs

46

« '
N < L

GP-C-1 Roller Track Union / Center Support
|
a

44

Weight

Steel
0.170kg
60 60

IL\ """"- i Material
>

Qty/Box

40pcs 33

76.5

30.5_ 46

| 3
O

i i

(el Z @A B Roller Track Union / Center Support

Material

Steel

Weight

0.170kg KH

Qty/Box

32pcs 37

PROFI-TEAM LATINAsa. GO, LTD.

SISTEMAS DE MONTAJE

81.1
539 247
N
) ]
|

9
|
|
Al
|
91
NS

25




ROLLER TRACKS - CARRILERAS DE RODILLOS

B

Surface Treatment-WZ

Unit: mm

GP-CN Roller Track Union

¥
oy W
. ’ Material Steel
Weight 0.232kg
Qty/Box 36pcs

44

158

46
9

oNeeole)

O O O g

GP-DF Roller Mounting Bracket / Drop Stop

=i
-

Material Steel
Weight 0.194kg
Qty/Box 50pcs

2] [V Roller Mounting Bracket / Drop Stop

Material Steel
Weight 0.220kg
Qty/Box 30pcs

Bracket for 40X40 profile.

438

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE

Material Steel
Weight 0.194kg
Qty/Box 50pcs

o9

3

Material Steel
Weight 0.160kg ;
Qty/Box 70pcs — L

SYDVYL H3ITI0H




ROLLER TRACKS - CARRILERAS DE RODILLOS [?\%;/?J

Surface Treatment-WZ

Unit:mm

GP-DN33

Roller Mounting Bracket / Drop Stop

Material Steel

o -
._ =

= Weight 0.165kg
e T = . Qty/Box 70pcs

Bracket for assembling upper Joint

Roller Mounting Bracket / Center Support
-

Ll .’,"
L2
o \\ < _
= « . Material Steel
'-‘jJ Weight 0.079g
Q Qty/Box 100pcs

Material Steel
Weight 0.085kg
Qty/Box 100pcs

<
Q
—+
@
=
L
a4

Steel
Weight 0.217kg
Qty/Box 20pcs 10
[
<
\_“(\
s B
Material Steel JK
Weight 0.175kg
Qty/Box 50pcs 835
o L N
IR
N ;_F 5 0 0o 0 o 3%

PROFI-TEAM LATINAsa. GO, LTD.

SISTEMAS DE MONTAJE




ROLLER TRACKS - cARRILERAS DE RODILLOS %%

Surface Treatment-WZ

Unit: mm

GP-F-33 Roller Mounting Bracket
|

44

-‘
+ ¥
. = :

1S N ‘!_/_,,_d Material Steel L\J
"';#*' X — Weight 0.190kg N

Ry o

A as
\ I

! F = Qty/Box 36pcs
e Bracket for assembling upper

Joint

GP-F-40 Roller Mounting Bracket

SYDVYL H3ITI0H

Material Steel
Weight 0.200kg
Qty/Box 50pcs

Bracket for 40X40 profile

Material Steel
Weight 0.200kg
Qty/Box 42pcs

Installation location could be
changed by using Bolt easily.

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE

s
| I I |

3[ 2l SS
Material Steel
Weight 0.205kg
Qty/Box 40pcs S

8 &

8 -

Q L —

o ol
Material Steel
Weight 0.220kg
Qty/Box 30pcs

Bracket for assembling upper Joint




ROLLER TRACKS - CARRILERAS DE RODILLOS

N

Surface Treatment-WZ

Unit: mm

GP-HF Roller Track Union
e

Material Steel
Weight 0.230kg
Qty/Box 24pcs

ROLLER TRACKS

46

Material Steel
Weight 0.279%g
Qty/Box 30pcs

485

42 6.

Material Steel
Weight 0.215kg
Qty/Box 24pcs
Material Steel
Weight 0.200kg
Qty/Box 20pcs

upper side of 40 series roller and
slide pipe side is same.

PROFI-TEAM LATINAsa. GO, LTD.

SISTEMAS DE MONTAJE

Material Steel
Weight -
Qty/Box -

Bracket for recline by using Slide
pipe into Roller




ROLLER TRACKS - CARRILERAS DE RODILLOS

N

Surface Treatment-WZ

Unit: mm

Roller Mounting Bracket
=

Material Steel
Weight 0.144kg
Qty/Box 60pcs
Material Steel
Weight 0.150kg
Qty/Box 60 pcs

Bracket for assembling upper Joint

Material Steel
Weight 0.144kg
Qty/Box 70 pcs
(|2 AR Roller Mounting Bracket
Material Steel
Wei .
eight 0.150kg s
Qty/Box 70pcs 393

Bracket for assembling upper Joint

81.8
25325 35 N8

Material

Steel

Weight

0.180kg

Qty/Box

50pcs

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE

SYDVYL H3ITI0H




ROLLER TRACKS - cARRILERAS DE RODILLOS %%

Surface Treatment-WZ

Unit: mm

IE<TZYI Roller Mounting Bracket

Material Steel mj
<
Weight 0.23%g |
Qty/Box 40 pcs o7
S/ 8
N A
8 | 5o o 6o SS
3

v

=

(@]

=

= Material Steel

= Weight 0.100kg
2 Qty/Box 80 pcs

Material Steel
Weight 0.129g
Qty/Box 60 pcs

Material Steel
Weight 0.107kg
Qty/Box 70pcs

Bracket for Gas spring

(c]:AY/:V:[VII Roller Mounting Bracket

Material Steel
Weight 0.220kg
Qty/Box 35pcs

Roller Track angle can be changed

PROFI-TEAM LATINAsa. GO, LTD.

SISTEMAS DE MONTAJE




ROLLER TRACKS - cARRILERAS DE RODILLOS %%

Surface Treatment-WZ

Unit: mm

GP-11 Adjustable Roller Union

Material Steel
Weight 0.131kg
Qty/Box 60 pcs

Material Steel
Weight 0.096kg
Qty/Box 180pcs

SYDVYL H3ITI0H

Material Steel
Weight 0.173kg
Qty/Box 40pcs

Material Steel
Weight 0.096kg
Qty/Box 140pcs

Pron e ama.. I




ROLLER TRACKS - cARRILERAS DE RODILLOS %%

Surface Treatment-WZ

ROLLER TRACK MOUNTING BRKT (60 Series) - SOPORTES PARA CARRILERAS DE RODILLOS
Roller Mounting Bracket

Unit: mm

Material Steel
Weight 0.164kg
Qty/Box 60pcs

v

=

O

<<

o

= Material Steel

&5 ;

— Weight 0.164kg
2 Qty/Box 50pcs

Insert GAP-08 for
preventing shaking

Material Steel
Weight 0.140kg
Qty/Box 100pcs

Bracket for 40X40 profile

GP-B60 Roller Mounting Bracket / Tap Stop

< !
J I %
(o\ 1
Material Steel L |
Weight 0.250kg } a
Qty/Box 30pcs 33 50

61
24 _ 30

GP-B60-1 Roller Mounting Bracket / Tap Stop

Material Steel
Weight 0.220kg
Qty/Box 30pcs

PROF'-TEAM LATINAsa CO.LTD.
SISTEMAS DE MONTAJE m -



ROLLER TRACKS - cARRILERAS DE RODILLOS %%

Surface Treatment-WZ

Unit: mm

(e]:5: {0z MM Roller Mounting Bracket /Tab Stop

Material Steel
Weight 0.250kg
Qty/Box 20pcs

Insert GAP-08 for preventing
shaking

66
9265 30

o)
o
| —
m
o)
Material Steel ’E
Weight 0.168kg S
Qty/Box 68pcs
Material Steel
Weight 0.205kg
Qty/Box 40pcs

(] ICEIM Roller Mounting Bracket / Drop Stop

Material Steel
Weight 0.205kg
Qty/Box 40pcs

Insert GAP-08 for preventing
shaking

‘H 7
|
Material Steel g[‘_} I S
Weight 0.174kg ‘UJ
Qty/Box 40pcs 83
%

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




ROLLER TRACKS - cARRILERAS DE RODILLOS %%

Surface Treatment-WZ

Unit - mm
EZT Roller Mounting Bracket / Center Support A
L1 N
o T
N |
Material Steel ==
Weight 0.095kg A
Qty/Box 100pcs

65.5
45| 26 24 11

v
= -
< Material Steel
E Weight 0.095kg
L‘:I.J Qty/Box 80pcs
o
o . 38
Insert GAP-08 for preventing
shaking o ANAD
w8l o g go <
Rl B B
o

66
A
NP

Material Steel
Weight 0.158kg s
Qty/Box 20pcs 555 (2 505

DAD(
A(

=)

645
45/ 235 365
N
m
I
! >y
it
it
D
o | ¥
HEEY

BT Roller Mounting Bracket / Center Support
il

Material Steel § 88
Weight 0.175kg
Qty/Box 50pcs

When using 40 series, like to use
GP-60, IF USE GP-EH60, can be
used same Roller Height

R
(;ozzozozos,

78
375 26511

GP-FC60 Roller Mounting Bracket

Material Steel
Weight 0.168kg
Qty/Box 50pcs

The installation location can be
changed easily by using screw.

PROFI-TEAM LATINAsa. GO, LTD.

SISTEMAS DE MONTAJE




ROLLER TRACKS - cARRILERAS DE RODILLOS %%

Surface Treatment-WZ

Unit: mm

m Roller Mounting Unoin
w

0
Material Steel 8
Weight 0.254kg '
Qty/Box 35pcs

)

GP-L60 Roller Mounting Bracket

o)

o

Q

m

o)
Material Steel ’E
Weight 0.187kg %
Qty/Box 30pcs

65

Material Steel
Weight 0.187kg
Qty/Box 30pcs

Insert GAP-08 for preventing
shaking

73
8 275 _27 _ 105

65

Material Steel
Weight 0.187kg o
Qty/Box 30pcs &

68

45| 26 27
|

Roller Mounting Bracket / Tap Stop

65

Material Steel
Weight 0.220kg
Qty/Box 40pcs

93

26

7

Pron e Lo [




ROLLER TRACKS - cARRILERAS DE RODILLOS %%

Surface Treatment-WZ

Unit: mm

m Roller Mounting Bracket

ooﬁ
b .  Material Steel
™ ~ Weight 0.280kg =T
Qty/Box 30pcs

66.9
357 312

ROLLER TRACKS

PROFI-TEAM LATINA sa

mmmmmmmmmm 2]




ROLLER TRACKS - cARRILERAS DE RODILLOS %%

Surface Treatment-WZ

ROLLER TRACK MOUNTING BRKT (70 Series) - SOPORTES PARA CARRILERAS DE RODILLOS

Unit: mm

Material Steel
Weight 0.204kg
Qty/Box 50pcs
o)
o
GP-A70-33 —
m
)
Material Steel =
Weight 0.204kg A
Qty/Box 40pcs =
Insert GAP-08 for preventing
shaking
- %
GP-B70 Roller Mounting Bracket /Tap Stop
i
o r
Material Steel
Weight 0.280kg
Qty/Box 30pcs

GP-B70-33
Material Steel
Weight 0.280kg
Qty/Box 20pcs

Insert GAP-08 for preventing
shaking

Material Steel
Weight 0.180kg
Qty/Box 36pcs

Pron e Lo e




ROLLER TRACKS - CARRILERAS DE RODILLOS

N

Surface Treatment-WZ

Unit: mm

GP-E70 Roller Mounting Bracket / Center Support

Material

Steel

Weight

0.170kg

Qty/Box

60pcs

Material

Weight

0.170kg .

ROLLER TRACKS

Qty/Box

Steel
50pcs S DD D DD

shaking

Insert GAP-08 for preventing

e o s o]

o & o =
@)
50

35.3

GP-E70-33

GP-EN70 Gl Mo_unting Bracket

.r
\ Material
E Weight
-
- )

shaking

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE

Insert GAP-08 for preventing

Steel
0.265kg
Qty/Box 24pcs
Material Steel
Weight 0.209kg
Qty/Box 60pcs
Material Steel GP-L70-33
Weight 0.209kg
Qty/Box 50pcs




N

ROLLER TRACKS - CARRILERAS DE RODILLOS

Surface Treatment-WZ

Unit - mm

Steel

0.330kg

GP-M70 Roller Mounting Bracket

Material

Weight

ROLLER TRACKS

Easily insert box

Prevention from dropping due to the Box pushing

SISTEMAS DE

5573 PROFI-TEAM LATINA 5.



ROLLER TRACKS - cARRILERAS DE RODILLOS %%

Surface Treatment-WZ

ROLLER TRACK MOUNTING BRKT (85 Series) - SOPORTES PARA CARRILERAS DE RODILLOS

GP-A85 Roller Mounting Bracket

Unit: mm

90

Material Steel
Weight 0.205kg
Qty/Box 40pcs

515
14 25 _ 12,5

(]2 LTCE I Roller Mounting Bracket
-4

© =1

2 = :
= :

§ Material Steel

3 Weight 0.205kg

= Qty/Box 40pcs

Insert GAP-08 for preventing
shaking

513
1.7, 313 _/8.3

(c]:27:\\[:" 3 Roller Mounting Bracket / Drop Stop

Material Steel
Weight 0.253kg
Qty/Box 40pcs

The Roller and Bracket height
is same

GP-B85 Roller Mounting Bracket / Tap Stop
4

90.6

Material Steel
Weight 0.300kg
Qty/Box 30pcs

70.4

144 56

GP-B85-1

Material Steel
Weight 0.318kg
Qty/Box 20pcs

Pron e Lo e




ROLLER TRACKS - cARRILERAS DE RODILLOS %%

Surface Treatment-WZ

}: '1 '1 GP-B85-1-33

Unit: mm

(€] R ECEM Roller Mounting Bracket / Tap Stop

Material Steel
Weight 0.318kg
Qty/Box 20pcs —J1

67.5

Insert GAP-08 for preventing
shaking

‘ o)

o

o

8 m

Material Steel [ =
il =

Weight 0.300kg ‘ =
Qty/Box 20pcs 7

Insert GAP-08 for preventing
shaking

66.6
43/ 31 313

a
Material Steel
Weight 0.300kg
Qty/Box 20pcs

91

Material Steel
Weight 0.243kg
Qty/Box 20pcs

81
51_41.3 346
N

% SS
Material Steel

Weight 0.140kg
Qty/Box 70pcs

{

J]

50.7
16_34.7

Pron e uama.. [




ROLLER TRACKS - cARRILERAS DE RODILLOS %%

Surface Treatment-WZ

Unit: mm

GP-D85 Roller Mounting Bracket / Drop Stop

{ﬂ

Material Steel
Weight 0.235kg
Qty/Box 30pcs

90
]

80

49.5 55 25

ROLLER TRACKS

Material Steel
Weight 0.124kg
Qty/Box 80pcs

91

79.5

55| 25 125 365
o
|_|o]
ol
o

4,

Material Steel
Weight 0.124kg
Qty/Box 60pcs

Insert GAP-08 for preventing

shaking

85

82
8 415 _325

ISR Roller Track Union / Center Support

91
@

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE

Material Steel
Weight 0.414kg
Qty/Box 12pcs
10|
g® SS
)
&
[
8[
Material Steel
Weight 0.264kg
Qty/Box 24pcs S
g
&L
)
<




ROLLER TRACKS - CARRILERAS DE RODILLOS

B

Surface Treatment-WZ

Unit: mm

(] B L\VACE M Roller Mounting Bracket

SYDVYL H3ITI0H

(|2 ECE I Roller Mounting Bracket

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE

Material Steel
Weight 0.265kg
Qty/Box 24ps 526
_ AN A
Insert GAP-08 for preventing o2 28
shaking e
ffon
o
Material Steel
Weight 0.410kg
Qty/Box 20pcs
)
73
< | ']
Material Steel | @:]
Weight 0.442kg
Qty/Box 20pcs

Insert GAP-08 for preventing
shaking

35.5 31.4

79



ROLLER TRACKS - cARRILERAS DE RODILLOS %%

ROLLER TRACK CAP - TAPAS PARA CARRILERAS DE RODILLOS

4 {&rLY: N Roller Track Cap

Unit: mm

Material ABS
Weight 0.002kg
Qty/Box 1,500pcs

Recycle Roller 25 series
for AL Body PRC-25A

ISR Roller Track Cap

v
S
(@)
< ,
o= L £P
— 4 L
= Material ABS ey
9' Weight 0.004kg ~f

Qty/Box 1,000pcs

Roller Track 35 Series for normal PRC-35

type

PRC-40 Roller Track Cap

Material ABS

Weight 0.005kg

Qty/Box 1,000pcs

Roller Track 40 Series for
normal type

& 1)\ Roller Track Cap

=
Material ABS -
Weight 0.005kg “

Qty/Box 1,000pcs
Y P 40 8 1
Recycle Roller 40 Series |8
for AL Body PRC-40A

Material ABS o |1
Weight 0.005kg 3
Qty/Box 1,000pcs o

Recycle Roller 40 Series
for GI Body

o d

!
B

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




ROLLER TRACKS - CARRILERAS DE RODILLOS

N

Unit: mm

PRC-60 Roller Track Cap

o
Material ABS
Weight 0.006kg
Qty/Box 600pcs
Roller Track 60 Series for
Gl Body
PRC-60A Roller Track Cap
Material ABS
Weight 0.006kg
Qty/Box 600pcs

Universal Roller UR-6067 type

SYDVYL H3ITI0H

for AL Body

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE

Recycle Roller 70 Series

Material ABS <
Weight 0.006kg m
Qty/Box 600pcs
Recycle Roller 60 Series
for AL Body
Material ABS
Weight 0.006kg &
Qty/Box 600pcs 60
Recycle Roller 60 Series
for GI Body
Material ABS
Weight 0.008kg
Qty/Box 600pcs

PRC-70A




ROLLER TRACKS - CARRILERAS DE RODILLOS [?\%;/?J

Unit:mm

PRC-85A Roller Track Cap

Material ABS : %
Weight 0.010kg «

Qty/Box 400pcs 85 3 ‘

Recycle Roller 85 Series
for AL Body

PRC-85G Roller Track Cap
4

34.5
(/i

Material ABS (@) o
~ Weight 0.010kg

Qty/Box 400pcs 3 _|
85 8

Recycle Roller 85 Series
for Gl Body

ROLLER TRACKS

Material ABS

Weight 0.011kg % ;{ %

Qty/Box 400pcs | = 3 |

Recycle Roller 100 Series ‘ | 10

for AL Body PRC-100A

ProFI-TEAM LATINA < m -
mmmmmmmmmm




m PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE

ACCESSORIES - Accesorios

MOUNTING BRACKETS
(SLIDE PIPE SERIES)

OTHERS
NAME-PLATE
LABEL CASE
PLASTIC GUIDE
ALBOX GUIDE
PLASTIC CHANNEL

LEVELING FEET

THREADED INSERT & INNER CAP

FASTENERS




ACCESSORIES - Accesorios

SLIDE PIPE MOUNTING BRACKET

N

* Surface Treatment - WZ

Unit: mm

(A Y\ Slide Pipe Mount

1\/ Material Steel
] Weight 0.106kg
o Q'ty/Box 100pcs
(CAF.ScER Slide Pipe Mount
Material Steel
Weight 0.106kg
Q'ty/Box 80pcs
IS slide Pipe Mount / Tap Stop
r
. Material Steel
\ ~ Weight 0.130kg
Y Q'ty/Box 70pcs
A
IEEEEY Slide Pipe Mount / Tap Stop
Material Steel
Weight 0.130kg
Q'ty/Box 70pcs
(ch5: R Slide Pipe Mount / Tap Stop
Material Steel
; & Weight 0.116kg
i
" Q'ty/Box 70pcs

%

5573 PROFI-TEAM LATINA 5.

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios

SLIDE PIPE MOUNTING BRACKET

B

* Surface Treatment - WZ

Unit - mm

[ehR:REEE] Slide Pipe Mount / Tap Stop

GS-B-1-33
y
! Material Steel
i Weight 0.116kg
L
Q'ty/Box 50pcs
Slide Pipe Mount Guide Bracket
Material Steel
Weight 0.085kg
Q'ty/Box 80pcs
ISP slide Pipe Mount / Drop Stop
Material Steel
Weight 0.116kg
Q'ty/Box 80pcs
m Slide Pipe Mount / Drop Stop
Material Steel
Weight 0.160kg
Q'ty/Box 80pcs
Material Steel
Weight 0.155kg
Q'ty/Box 50pcs

5572 PROFLTEAM LATINA 5.

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios %@EOI

SLIDE PIPE MOUNTING BRACKET

* Surface Treatment - WZ Unit: mm

GS-11 Adjustable Slide Pipe Union

Material Steel
Weight 0.073kg
Q'ty/Box 150pcs

Slide Pipe Mount Guide Bracket

-

Material Steel
Weight 0.160kg

- # Q'ty/Box 30pcs
» | ‘-L‘\-‘




ACCESSORIES - Accesorios

OTHER

B

* Surface Treatment - WZ

Unit - mm

(@ YR Caster Mount Strap

Hex Bolt M8x45
Plain Washer M8

Material Steel
Weight 0.102kg
Q'ty/Box 150pcs
@V {\ll Caster Mount Strap Hox Bolt MExds
snl;«I""""n. Plain Washer M8
_.' ‘.'I 'ﬁ.ﬁh
B g
5 "‘.'_ _-' _*::,: Mai.:erial Steel
‘n . i A Weight 0.107kg
e
s M ‘(} o Q'ty/Box 120pcs
g P
//JI f
@V {1i)§ Caster Mount Strap e Bolt MBS0
_.-:"-"’1;‘\ Plain Washer M8
_II_.-"" s | _‘:\
e NS
: ﬁ s k\' Material Steel
e N N ’ = Weight 0.107kg
= ‘::p il Q'ty/Box 120pcs
4 o
@YWk} Caster Mount Strap
Al
/.ff L i
i m\-ah% | |
; - Materia Stee
o ‘)H" e Weight 0.111kg
o, " B s
o Q'ty/Box 100pcs
Hex Bolt M8x55
Plain Washer M8
Material Steel
Weight 0.150kg
Q'ty/Box 100pcs

M PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios %@EOI

OTHER

* Surface Treatment - WZ Unit - mm

(@ VEC{\UM Caster Mount Strap Hex Bolt M8x45

/ Plain Washer M8

*"éfﬁ > S
:-:‘f,:-‘ ﬁ,:‘%’/ﬁ "M"H Weight 0.078kg
-h‘,:_‘!"'

/ Q'ty/Box 300pcs
/ y

@V EcE{1N Caster Mount Strap

o
i )
/fc‘:= - n_‘k“-u Material Steel
: ' T Weight 0.113kg
/_P..:. ) ‘_,."f Q'ty/Box 120pcs
i
/ “’

Example for Caster Mount

Hex Bolt M8x45
Plain Washer M8

A-001Cor B-001

552l ProFI-TEAM LATINA 51

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios %@EOI

OTHER

* Surface Treatment - WZ Unit - mm

Corner Metal

Material Steel 2
Weight 0.100kg N T -
Q'ty/Box 60pcs : 95
111.5
33 485 _30
§ _ o
o —-—=
Material Steel
Weight 0.071kg
Q'ty/Box 60pcs

m ProFI-TEAM LATINA s E

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios %@EOI

OTHER

* Surface Treatment - WZ Unit: mm

Base Lock Metal

/ Material Steel
ol

N Weight 0.063kg

b Q'ty/Box 150pcs
=

e\l Pipe Clamp (Single Mount)

"\ Material Steel
A Weight 0.020kg
- Q'ty/Box 300pcs

Y& &\l Pipe Clamp (Double Mount)

2 E@:;sz%
3‘ F Material Steel “ | 1
L Weight 0.026kg o V/

Q'ty/Box 400pcs

Example for PC-A

0
7

(772 T 2

l:u

o

=1
VAT LA

a

7

el

A/

1=

(s

\Z y—
nl’ '

m PROFI-TEAM LATINA sa
SISTEMAS DE MONTAJE




Al
<

BL28YA-U
@
*

( Folding )

:j ﬂ jmw [sov |
S TN Y e D

mﬁ + b\MW%Ju 7 } 1(\VM\b

Al e a0

45_155

o 2
bnnv bnnvs X | 0 =
~| v ~ |9 ©| O o

T s o= |& o5& [}
Ll=|o ARCARS 2|23 i
nh|o|’n n|o|o© h|O|—
K ) = ) = )
= | E(@ = | E(@ c|E @
g2 92> g 2
© | |+~ ©| |~ ©| |~
e} = |20 = |2 |0

Pipe Lock Metal

f’i\i
Pipe Clamp
|
Pipe Holder
. -
Example for PC-D Folding work table

ACCESSORIES - Accesorios

N
= 3
< # | - =
IS =
M ‘il e > \ M
(< - =
s r W NS :
3 (@) O 0
o < e & K A
T A = %
= * 4 e
° o
m
o

SISTEMAS DE MONTAJE



Sl

ECH-28A

Steel
0.060kg
70pcs
Steel
0.045kg
50pcs

Material
Weight
Q'ty/Box
Material
Weight

OTHER

ACCESSORIES - Accesorios

Example for Hang Roller

———
———
4 [2972:3 Hang Roller

J@,2:J.Y End Cap Hanger

* Surface Treatment - WZ

5573 PROFI-TEAM LATINA 5.

SISTEMAS DE



ACCESSORIES - Accesorios

OTHER

B

* Surface Treatment - WZ

Unit - mm

1 ¥237:y Hanger Metal

. Material Steel
""“qh Weight 0.049%g
Q'ty/Box 100pcs
{
P23 Hanger Metal
.-I'q'l? : Material Steel
‘.g':’/"." Weight 0.040kg
) - Q'ty/Box 100pcs
Handle (Flat Type)
Material Steel
Weight 0.020kg
Q'ty/Box 500pcs
Material Steel
Weight 0.020kg
Q'ty/Box 400pcs

M PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios

OTHER

* Surface Treatment - WZ
BB Hinge Metal

_r..-"'
Ty
A |
REEVE¥ Hinge Metal

0.052kg

Weigh
y/

"\

Example for Hinge Metal

/

M PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE



Bz

ACCESSORIES - Accesorios

OTHER

Unit - mm

N

RB-2880A

Rubber

0.060kg
150pcs

RURrAt{/s\ Ring Bumper

Material

Q'ty/Box

* Color : White

RB-3480A

Rubber

0.065kg
150pcs

Ring Bumper

RB-3480A

Material

Weight

Q'ty/Box

* Color : Yellow

Example for Ring Bumper (RB-2880A)
Example for Ring Bumper (RB-3480A)

5573 PROFI-TEAM LATINA 5.

SISTEMAS DE MONTAJE



ACCESSORIES - Accesorios %@EOI

OTHER

* Surface Treatment - WZ Unit: mm

[ERPEVY End Snap Rest

‘
Material Steel 3 Il { —f-—-—
Weight 0.100kg RN
Q'ty/Box 90pcs 2 35
=t —
o T~ EJJC GS-1250A
[l My N
\\f/ L J

Tension

[EPE End Snap Rest

W,
“'? Material Steel

% Weight 0.100kg

ﬁ\,i? Q'ty/Box 90pcs

-

GS-12508

Tension

SISTEMAS DE MONTAJE

E§%§9 ProFI-TEAM LATINA s I::a



ACCESSORIES - Accesorios %@EOI

OTHER

* Surface Treatment - WZ Unit - mm

[ @24/:Y Pipe Rest

Material Steel gti l‘ﬁL - o
Weight 0.094kg R
Q'ty/Box 90 pcs

Door Open

[ @2W:] Pipe Rest

/ MQO—T
- S T C
/ Material Steel mﬁ_b )
Weight 0.124kg bﬁ%

Q'ty/Box 70pcs

ul\i\v
g

5572 PROFLTEAM LATINA 5.
SISTEMAS DE MONTAJE



ACCESSORIES - Accesorios

OTHER

od Go

* Surface Treatment - WZ

Unit - mm

Band Hook
02

Same direction with Pipe

Q)Q)
Material Steel NN %X
Weight 0.001kg Nl I
Q'ty/Box 1000pcs 3¢
&
N m%
6| |
i
Band Hook
@2 CD%
Material Steel %
Weight 0.001kg
> I -~ I wlw
Q'ty/Box 2000pcs e
N
) o[~
6
Hanger
PH-A
Material Steel /7
Weight 0.001kg
™ Q'ty/Box 500pcs
i.-
BT Hanger
PH-B
Material Steel
Weight 0.001kg
Q'ty/Box 300pcs

Material Steel
Weight 0.001kg
Q'ty/Box 300pcs

Rectangle direction with
Pipe

M PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE

PH-B1

P



ACCESSORIES - Accesorios Og_>0

OTHER

* Surface Treatment - WZ Unit - mm

Hanger

* Material Plastic+Steel
s Weight 0.019kg
L]
: Q'ty/Box 90pcs
—
DM Hanger
PH-D
Ny Material Plastic+Steel
}L Weight 0.017kg
f Q'ty/Box 100pcs

[SBIIEIEE] Sleeve Hanger (2 Hole)
e

Material Steel
Weight 0.050kg
Q'ty/Box 150pcs

GS-1014CH

Material Steel
Weight 0.050kg
Q'ty/Box 70pcs

GS-1014CJ

GS-1014A

|
; Material Steel
1 Weight 0.130kg

Q'ty/Box 70 pcs

E§;§¥ﬂ ProFI-TEAM LATINA s I;::I

SISTEMAS DE MONTAJE



ACCESSORIES - Accesorios

OTHER

B

* Surface Treatment - WZ

Unit: mm

(SRR Sleeve Hanger

Material Steel
Weight 0.130kg
Q'ty/Box 170pcs
I
(A 721} Sleeve Hanger
Material Steel
Weight 0.100kg
Q'ty/Box 56pcs
(SRR Sleeve Hanger
Material Steel
Weight 0.155kg
Q'ty/Box 33pcs

)

e i —
%4 g
7 g!‘
‘-‘(:l o S W Y A . O )

&

Y

IS
&

SISTEMAS DE MONTAJE

GS-1014CHor CJ

GS-1014B

Can be used temporary Stopper



ACCESSORIES - Accesorios Og_>0

OTHER
* Surface Treatment - WZ Unit: mm
(chAyfild Pipe Plug
Material Steel
P Weight 0.120kg GS-2070C
Q'ty/Box 100pcs
Pipe | Thickness Part No.
0.7 | GS-2070C-C07
Coated 0.9 | GS-2070C-C09
1.0 | GS-2070C-C10
2.0 | GS-2070C-C20
0.7 | GS-2070C-S07
T3/ 709 | G5-2070¢=510
1.2 | GS-2070C-S12
17J1p] Slide Pipe Plug
Material Steel GS-2070D
Weight 0.200kg
Q'ty/Box 90pcs
Pipe |Thickness Part No.
0.7 | GS-2070D-C07
Coated (1)8 -
2.0 | GS-2070D-C20 STS Pipe 0.7t
0.7 | GS-2070D-S07
3/ 709 | Gs=20700-510
1.2 | GS-2070D-S12
[ERIILT Slide Pipe Plug
Material Steel
Weight 0.069kg GS5-2070E
Q'ty/Box 100pcs
Pipe |Thickness Part No.
0.7 -
Coated (1)8 GS-207_OE-C09
S'g - 228 Pipe
STS/ [ -
Eco 0.9
1.2 -

m ProFI-TEAM LATINA s m

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios Og_>0

OTHER

* Surface Treatment - WZ Unit: mm

(@ 2y Roller Conveyor Pulley Bearing

Material Plastic
Weight 0.017kg
Q'ty/Box 100pcs
* Color : Blue

IEDSIEFY Sleeve Bushing (Metal)

Material Steel
Weight 0.035kg
Q'ty/Box 180pcs

Joint for assembly :

G-12S, G-17S, G-18S,
G-24S, G-25C, G-22S

I—
Material Steel B i@ﬁ ) . H
Weight 0.155kg r @HF ‘ Tg{w ] FB28
Q'ty/Box 48pcs | 4 | I 218 i
34l6 [314]
~L A

5572 PROFLTEAM LATINA 5. m

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios %@EOI

OTHER

* Surface Treatment - WZ Unit - mm

(b2 3 Quick Stopper

L ] -
Ty ot - - e e
N %H R S ==

- i -« Y o
B i j )
@\ B 5 P—
! i S
{ S

S
Material Steel
Weight 0.370kg

Q'ty/Box 18pcs

5
‘FI\
L
-
[+
e

uiisA
&
&

.m. Box Stopper

N

3
30(ZbEA+7)

5.6
150
124

i
hi352[1352 i

Material Steel
Weight 1.78kg
Q'ty/Box 40pcs

/
< =]
=t l}lf-mﬁmulj'!).'jl

===
P 1 ’ = —r

Stopper OFF *

m PROFI-TEAM LATINA sa
SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios %@EOI

OTHER

* Surface Treatment - WZ Unit: mm

BESEEM Back Stopper Bracket
o

i Material Steel
i "‘ . [ “‘ —
Weight 0.105kg A P e
Q'ty/Box 60 pcs 1, 1 _
L))
33

> ]

KVMGL o ach kel o)

ﬁo4>oooooooooooooooog(&

DL-15 Door Latch

Material Steel
Weight 0.305kg
Q'ty/Box 20 pcs

Example for Door Latch

% /
~ 57
5 X : ; o & ; 55 : { 59.5
o N
i_ﬁj% 55 S

5573 PROFI-TEAM LATINA 5. 104

SISTEMAS DE MONTAJE



ACCESSORIES - Accesorios Og_>0

OTHER

Unit - mm

\VI[&cyl Metal Joint Cover

PatentPending
Material Plastic
Weight 0.013kg
Q'ty/Box 150pcs

* Color : Natural

Material Plastic
Weight 0.012kg
Q'ty/Box 280pcs

* Color : Natural

Material Steel
Weight 0.020kg
Q'ty/Box 120pcs

* Color : Natural

\VI[&c’:W Metal Joint Cover

PatentPending
Material Plastic
Weight 0.020kg
Q'ty/Box 120pcs

* Color : Natural

SN safety Reflector

| &

!
g

Material Plastic
Weight 0.030kg
.'""L Q'ty/Box 150pcs

* Color : Yellow

Prevention from accident in the
night by attaching reflection
plate in the Pipe side.

m ProFI-TEAM LATINA s m

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios

OTHER

* Surface Treatment - WZ/BK

\Y[CPAB|SN Separator

2

Unit:mm
T g
Material Steel ‘ £ ‘ 85
Weight 0.180kg CH “rm ]
Q'ty/Box 100pcs &5
1lc{/8 Holder Panel
Insert rear side into
Pipe and attach to
! front side.
Ma'FeriaI Plastic 3 oz i —\
Weight 0.030kg FE=M
al b7k
Q'ty/Box 240pcs 3 I ©. . i £
. i - ’ .
* M4 Bolt/M4 Nut (Option) g : ﬁ. . = /LBOL
* Color : Yellow ) o = .
=
_l
jlc{\i@ Holder Panel HP-30R/ .5
. g —F
‘-‘—-.
A 1 14 = e
Material Plastic Bawidl Pt o |
Weight 0.022kg @ L5 e el
L | -
Q'ty/Box 400pcs i pnT i‘ . IEII:II |
! I R i
* M4 Bolt/M4 Nut (Option) - iLwal - f\-"""-'h' "r-'
* Color : Yellow 'li'rgi " 1 B Ji
(W5 Wire Latceh
Material Steel
Weight 0.139%g
Q'ty/Box 150pcs

ﬂ

5572 PROFLTEAM LATINA 5.

SISTEMAS DE MONTAJE




£
(@) 5
-
C
E y
Q O
: 7%
Om_ 5O
O O
(O}
QQ
P
1<}
o~  Q
o S 53
8lalgg > g
BHEE < 1
o = £5
=38
w
o
212222
OO N | O | —
CRECAEEEN]
W,I.2.2.
o |lOo| O
< |88 ®M
N | M| <
(]
IO g Q 2
oz o ® > 8
T o8
Q EIE
W
LLl
@) ololo|o
NOOO
) =5 %5 ||
6l |x|x T |E| @
< £z 3|5,
© | |+
. S|=|o
(Vo) o
LLl &
[%]
©
I C 3
H S
R X
X (] N
[¥) C —
S \ o @
[ o c
N o L1 et c
(V) = |2 s s
S .mW 4 1 — w
o (®]
LL £ . i N
o= T F Q N
‘~ = [=] [=% w
mm_ m -—
o < :
el :HI = =
AT * _
(@)

M PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE



ACCESSORIES - Accesorios

OTHER

Unit: mm

1170 Tool Holder

Material Plastic
Weight 0.087kg
Q'ty/Box 50pcs
*TH40PA : PP (Color : BK)
*TH40PNA : Nylon6
(Color : Dark Gray)

TH40PNA

LBV Tool Holder

w&,

Material Plastic
Weight 0.087kg
Q'ty/Box 50pcs

*TH50PA : PP (Color : BK)
*TH50PNA : Nylon6
(Color : Dark Gray)

109.6

1I:E10)7:9 Tool Holder

T >
5 Material Steel
Weight 0.108kg
Q'ty/Box 25pcs
* Color : WZ

1 [N0]iY/:] Tool Holder

Material Plastic

Weight 0.082kg

Q'ty/Box 50pcs

*TH60PA/B : PP (Color : BK)

*TH60PNA/B : Nylon6
(Color : Dark Gray)

11:(%)7:W Tool Holder

. Material Steel
Weight 0.197kg
Q'ty/Box 25pcs
* Color : WZ

M PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios &@EOI

OTHER

* Surface Treatment - WZ/BK Unit - mm

(&2 38 Tool Cap

TC-28

Material Rubber
Weight 0.012kg
Q'ty/Box 450pcs mﬁ
‘ o
28
33
e
Rotating Cross Joint
_-—-_.___‘__
Material Steel
Weight 0.128kg
Q'ty/Box 96pcs
IS Rotating Cross Joint
Material Steel
Weight 0.104kg
Q'ty/Box 96pcs
PS-B
Rotating Cross Joint
G-15BS O
Material Steel =
Weight 0.105kg M6x10,/ 1S
Q'ty/Box 96pcs g
PS-C
&1Ll Shaft Cylinder
1
\ - Material Steel
' y | Weight 0.190kg
i 4 Q'ty/Box 90pcs
\ ~r 5
I ]

5572 PROFLTEAM LATINA 5. m

SISTEMAS DE MONTAJE



ACCESSORIES - Accesorios %@EOI

OTHER

* Surface Treatment - WZ/BK

m Mount Corner Plate-Left
¥

Unit: mm

Material Steel
Weight 1.478kg
Q'ty/Box 12pcs

Material Steel
Weight 1.478kg
Q'ty/Box 12pcs 3 & i
i 295 MCP-BN-R

Material Steel
Weight 1.28kg
Q'ty/Box 12pcs

.-r"'f r--t Vo

"
L3 .
[@:Z V(e @ Corner Bumper
1! /
r Material Rubber

Weight 0.034kg
Q'ty/Box 150pcs

iR et

m PROFl-TEAM LATINA sa

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios

OTHER

S

Unit - mm

* Surface Treatment - WZ/BK

MCP-E

Steel

1.110kg
12pcs

Material

Weight

Q'ty/Box

N
=
=
=
3
fig
o
£
o
>
]
]

1/2" or M12 Nut

rs)
N~
< ©
]
£l
©
o
<
o~
=
5
]
2
o8
| N
$m &
n o m
s 5
+—
nhm
12 =
o | |+~
S| =|o

Metal Corner Plate

Steel

0.260kg
30pcs

Material

Weight
Q'ty/Box

LA
X/ \X/
/X
/)

ORYIONILE
% (< ,.MM M“Q{»@i.\

Example for MCP-G

e

S 28 =D
) u,'\, ..vu W\

)

YN A
) Y % &
¢ 7 v' v'
Lol oo
t.\a L, f A, §§7\®

aﬁb‘
S - D ¢
YNV v
MR
A
&

S

@ S

) N\ % I Y
\4
{ 9(. Y

PG

M PROFI-TEAM LATINA sa

SISTEMAS DE



ACCESSORIES - Accesorios %@EOI

OTHER

* Surface Treatment - WZ Unit: mm

(@.y2:{ll Corner Support

Plain Washer M8

4
R

50

255
240.5

£ %
¢ +
o /\EJ A
= (NS @] ]
o 20 8 2] | gz
Material Steel 120 7
Weight 0.705kg
Q'ty/Box 24pcs

CS28R

Corner Support

Material Steel
Weight 0.750kg
Q'ty/Box 24pcs

m ProFI-TEAM LATINA s m

SISTEMAS DE MONTAJE



Sl

BC45-B
45x45 Frame

)
£
o
fing
n
<
X
)
<

@28 Pipe

o
£
IS
[
n
<
X
%)
<

o 2 2
—_ | x — 919 _ | o
o |0l g oI~ a8 D08
L | 00 | — O | N
=Rl eN 2| .| O =R N eN
hl—| o0 ND|—|— n|— | <
=28 Sl 5| |8
8|5 < 552 HEE
&|lo| & 5|lT| 2 BTS2
=|=|c =|=|c =|=|o

Base Corner
Base Corner
Base Corner

T
<
c
T
(<}
O
@
w
s
)
T
(<}
L=
<
o
£
<
>
Ll

é
z
2
8
g
b
@

ACCESSORIES - Accesorios

OTHER
Surface Treatment - WZ
BC45-A

:
5
:
o
3,



OTHER

ACCESSORIES - Accesorios %@EOI

* Surface Treatment - WZ

Unit: mm
B Fork Guide

GMBASW / NNOBW
; / |

Material Steel
Weight 2.440kg
Q'ty/Box 2pcs

m Fork Guide

1
L i
. 1
S T S N S S
T r
oo
€ | ©||©
Material Steel g
Weight 1.770kg 150(F) ~
Q'ty/Box 2pcs 158
5572 PROFLTEAM LATINA 5.
SISTEMAS DE MONTAJE

14



ACCESSORIES - Accesorios

OTHER

* Surface Treatment - WZ

Y Fork Guide

Unit - mm

-

Material Steel
Weight 2.300kg
Q'ty/Box 2pcs

Example for Fork Guide

5573 PROFI-TEAM LATINA 5.
SISTEMAS INTAJE

e T
= - - 53N
- + [N, 8
i 1

L EEE R e

( )

275

210 30
g — — —— — "0
[ ——— — )

GM845W / NNO8W




ACCESSORIES - Accesorios %@EOI

OTHER

* Surface Treatment - WZ Unit: mm

Front Haul Ass'y-Spring Type

Hex Bolt M8x45

I

| ﬁ

||

| Plain Washer M8
CM-100

‘ - »
LY
Material Steel g
Weight 3.400kg
Q'ty/Box 4pcs & FS-A
S

Rear Haul Ass'y-Spring Type

. Hex Bolt M8x45
#-i-
- 45 i Plain Washer M8
3
T | CM-100

Material Steel
Weight 1.500kg
Q'ty/Box 4 pcs

Plain Washer M8

Nylon Nut M8

5572 PROFLTEAM LATINA 5. m

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios Og_>0

OTHER

* Surface Treatment - WZ Unit - mm

IS Front Haul Ass'y-Quicking Type

I
& Hex Bolt M8x45

Plain Washer M8
g ! I | CM-100

409.5

o -
% 3
Material Steel &
Weight 3.100kg “ @ﬁ,@ o @E“* —ta
= +

Q'ty/Box 4pcs P 2

i P o m <+ il S Plain Washer M8

¢ Nylon Nut M8

Rear Haul Ass'y-Quicking Type

o £
Hex Bolt M8x45

Plain Washer M8

CM-100

Material Steel
Weight 2.100kg
Q'ty/Box 4pcs

Plain Washer M8
Nylon Nut M8

M PROFI-TEAM LATINA sa n7

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios %@EOI

OTHER

* Surface Treatment - WZ Unit: mm

SY.\\SM Front Haul Ring Ass'y

(

i
b L
246 511
e
N 30
Material Steel 17 | 18
Weight 2.046kg | I‘; i ' ‘
wE=HE—mm—ie ~ 3
Q'ty/Box 6pcs ;W === i jgl‘” @w
| 175 4|
210 | 56 | k
DAY\l Rear Haul Ring Ass'y
82.4 ©
—
( L L Y 73]
R4.5 g|p
éﬁ @ IR 230 | &
5 L
.  — —
@25 5
- 175 36
Material Steel 210 =
Weight 1.090kg
Q'ty/Box 28pcs

L‘

5572 PROFLTEAM LATINA 5. m

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios %@EOI

OTHER

* Surface Treatment - WZ Unit - mm

Rear Haul Ass'y-Quicking Type

Material Steel
Weight 3.380kg
Q'ty/Box 6pcs

/DN Stanchion Mount Single

) "-—J ,Lﬁ}
Material Steel @ 05‘5
; Weight 0.198kg S 4
1 Q'ty/Box 20pcs f

J:\\:2{V  Anchor Plate (Prevention from moving by shake & shock)

"
oy
%
50
25 ‘ 25
T
j@,}
19.2)

- 3 Material Steel
s Weight 0.052kg 2
Q'ty/Box 220pcs W
L — ‘

Example for AP-50

ProFI-TEAM LATINA 5 m -
SISTEMAS DE MONTAJE



ACCESSORIES - Accesorios %@EOI

OTHER

* Surface Treatment - WZ Unit: mm

(e2:7:\ Hole Cup-A

Material Steel
Weight 0.300kg
Q'ty/Box 20pcs
HC40 Hole Cup
Pipe
Material Steel R—=| Square Pipe
Weight 0.394kg
Q'ty/Box -
Can be used to stack 2nd floor s f .
Trolley with welding round or | Ny
Square pipe | |

Example for Hole Cup

5572 PROFLTEAM LATINA 5. m

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios %@EOI

OTHER
* Surface Treatment - WZ Unit - mm
GRHA-15R Bearing Pulley Ass'y (Right)
gy, e R SR
] Material Steel GRH-15R

MO610W

—— Weight 0.129g
" F Q'ty/Box -

IEEEEL Pulley Holder BKT (Right)

Material Steel
Weight 0.055kg
Q'ty/Box 270pcs

GRH-15R

GRHA-15L Bearing Pulley Ass'y (Left)

A
Material Steel
—
Weight 0.129g
., Sl Q'ty/Box -
)k

I | J

;RN Pulley Holder BKT (Left)

Material Steel
Weight 0.055kg
Q'ty/Box 270pcs

5572 PROFLTEAM LATINA 5. m

SISTEMAS DE MONTAJE



ACCESSORIES - Accesorios %@EOI

OTHER

* Surface Treatment - WZ

(c[)\Y/:Q )18 Bearing Pulley Ass'y (Right)

Unit: mm

33
Material Steel 8 .22

o ——
e Weight 0.122kg N T =%
Q'ty/Box - % Pla Lo
[ A MOB10W ©) B m[ﬂﬂ
| "3 195135
H*

(WA LY Pulley Holder BKT (Right)

GRV-15R

o
o
Material Steel
Weight 0.055kg
Q'ty/Box 240pcs

GRV-15R

%;%

GRVA-15L Bearing Pulley Ass'y (Left)

i —
33
ﬁ 29 33
e Material Steel ‘
! - Y =]
Weight 0.122kg = QE 0 1+
Q'ty/Box - i ©| ¥

ro- =
i o E[ 8 &) Mo610W
{ g N 185[19.5
-
5L

GRV-1 Pulley Holder BKT (Left)

%

30 375

Material Steel
Weight 0.055kg
Q'ty/Box 240pcs

GRV-15L

5572 PROFLTEAM LATINA 5. m

SISTEMAS DE MONTAJE



ACCESSORIES - Accesorios %@EOI

OTHER

* Surface Treatment - WZ Unit - mm

C3.SCYA  Bearing Pulley

e

Material Steel
Weight 0.012kg

{ Q'ty/Box 1,000pcs

IKEEZH Gap Bushing

Material Steel
Weight 0.0061kg
Q'ty/Box 2,000pcs

(@ 2cYQl Wire Holder (Part for preventing from Wire falling)

15.5
8.9

Material Steel
| Weight 0.004kg

rA Q'ty/Box 3,000pcs
{ J

9.5

R

|

Wrench Bolt M6x10

GRH-15L/R

XS
C

-32

P
Spring Washer M6
\'@
Wrench Bolt M6x25

5572 PROFLTEAM LATINA 5. E

SISTEMAS DE MONTAJE



ACCESSORIES - Accesorios %@EOI

OTHER

Unit: mm

CFG-28A e N Frami Guide

CFG-28A
o Material Rubber
Weight 0.021kg
F Q'ty/Box 450pcs '
* Color : Gray '

XLy Panel Frame Guide

s
’ Material Rubber
Weight 0.022kg
Q'ty/Box 450pcs
* Color : Blue
N
-
=

MYci:l Panel Frame Guide

-
Material Rubber
Weight 0.023kg
Q'ty/Box 450pcs
B
.1" ; * Color : Yellow
Nl
Y
L

5

Micprl{el Panel Frame Guide

PFG-28C
Material Rubber NG [ )
Weight 0.022kg N,
Q'ty/Box 450pcs y
" * Color : Blue K
N
‘_.

AGP-28A
XL P] Panel Frame Guide

|

Material Rubber
" Weight 0.030kg
Q'ty/Box 450pcs
:'? * Color : Gray
-

M PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios

OTHER

* Surface Treatment - WZ

Unit - mm

(1 \¢2::\ Pipe Connector (Coated Pipe)

Material Steel
Weight 0.046kg
Q'ty/Box 120pcs
(@439 Pipe Connector (STS/Eco Pipe)
_--"J‘ Material Steel
Weight 0.046kg
Q'ty/Box 120pcs

Monitor Bracket (VESA Hole standard)

Material Steel
Weight 0.350kg
Q'ty/Box 20pcs

M PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios Og_>0

OTHER

* Surface Treatment - BK/Ni Unit: mm
Pipe Hand Cutter
 Weight :0.52Kg &
* Qty/Box:21 pcs :
IS Fipe Cutter Knife
Bearing 6862z

» Weight :0.016Kg
* Q'ty/Box:90 pcs

% Knife for Pipe Hand Cutter (HC-1)

* Pipe cutter for quick & safe cutting to DIY (Customer) & Procd ution line.

1.Range: @26~@30

2.Material : STS-Pipe, Coated-Pipe, Steel-Pipe

3. Pipe Hand Cutter (HC-1) 1 set :including Pipe Cutter Knife( PK-1)1EAand
Bearing 1TEA

4. Spare Pipe Cutter Knife (PK-1) can be purchased separately n adwhen

purchase PK-1, Bearing would be included.

‘\\\\

4
\\\\\\\\\\\‘

5572 PROFLTEAM LATINA 5. m

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios Og_>0

NAME PLATE

Unit - mm

Name Plate

022 i
Material PVC
Weight 0.080kg 12
Q'ty/Box 180pcs (A e
2 | - f{") NP-150,
. | 150 |
I Name Plate
8.5
i
A
Material PVC 2>
Weight 0.047kg J_
Q'ty/Box 360pes 00— = 2:[
T oI e
0

150 |

NP-C

Material PVC

Weight 0.035kg

Q'ty/Box 190pcs
B Name Plate

Q%[ NP-D
-\ Material PVC
e ¢
—— Weight 0.032kg 1 )

L3 | Q'ty/Box 190pcs

23 Name Plate

Material PVC
Weight 0.023kg
Q'ty/Box 330pcs

m PROFl-TEAM LATINA sa

SISTEMAS DE MONTAJE



ACCESSORIES - Accesorios %@EOI

NAME PLATE

Unit: mm

BT  Name Plate (Requires GAP-58, sold separately)

\ Material PVC
; Weight 0.017k
oy 9 9

— “ Q'ty/Box 1000pcs

m Name Plate (Requires GAP-58, sold separately)

h:u. e @'ﬂ'% NP-F40

. Material PVC GAP-58
il
L ioght | 0.019%aq [~ —= T
hFdﬂ ‘“'-? Weight 0.019kg CoFFE 1
Q'ty/Box 1000pcs DS Y ()
- | 150

X Name Plate (Requires GAP-58, sold separately)

- "f Material PVC
- _
oy Weight 0.026kg izf T . :3 GAP-58
U . Mg Q'ty/Box 360pcs i S e A
G ,. | 150

y

T Name Plate (Double-sided adhesive tape Type)

v
- Py <
‘ _ ———
— = Material PVC
' —
0 Typg, e Weight 0.013kg
5 Q'ty/Box 1000pcs .

Material PVC TR 7

TR0 g h Weight 0.011kg i -
_‘\\‘ Qlty/BOX 1 OOOPCS \_ 150 _‘

5572 PROFLTEAM LATINA 5. m

SISTEMAS DE MONTAJE



ACCESSORIES - Accesorios

NAME PLATE

B

Unit - mm

@ Name Plate

PVC Q )

l‘“ Material
s Weight

Q'ty/Box

300pcs L

51

&

Material

PvC

Weight

0.020kg

Q'ty/Box

1000pcs

5572 PROFLTEAM LATINA 5.

SISTEMAS DE MONTAJE

150

[i NP-L




ACCESSORIES - Accesorios

NAME PLATE

od Go

Unit: mm
Configuration Hole Part No w H Weight - Q'ty/Box
(kg} (pcs)
LA 300%100 300 100 0.040 = 300
LA-B300%120 | 300 | 120 | 0.045 | 200
| ‘l —— — [— - *
LA-C 300220 ' 5545 ' 559 | goga | 250
. 4 | (Horizontal)
: Hole
LA-A3430%320 430 | 320 | 0.177 | 250
o
LC 25080 250 80 | 0.024 | 300
LC 250%100 250 100 0.030 | 300
LC-B210%80 | 210 = 80 | 0.021 | 300
- T LA-D3150%60 | 150 = 60 | 0.012 | 300
T 3
Hole
r LA-G230%95 | 230 | 95 | 0.027 | 1250
LA-E210%100 | 210 | 100 | 0.028 | 850
PE— LA2300%100 | 300 | 100 | 0.040 | 300
T 2
LA 215%160 215 | 160  0.045 | 200
Hole
LA-C2 220%300
Vortiat 220 300  0.080 & 250
LA-D150%60 | 150 = 60 | 0.012 | 1000
| = - LA-H170%135 170 = 135 | 0.030 | 300
o 1
) Hole
LA-P136%40 | 136 | 40 | 0.007 | 300
"
LC 180%85 180 = 85 | 0.021 300

M PROFI-TEAM LATINA sa




ACCESSORIES - Accesorios

PLASTIC GUIDE

B

Unit - mm

NeriJ:W Box Guide

Material PVC
Length 3,000mm
Weight 0.420kg/m
Newtidvll Box Guide
i .--.- = _--.-' e
Material PVC
Length 3,000mm
Weight 0.570kg/m
IEEEN Box Guide
_--. Id-
II',' F
1 {
I|I J Material PVC
| | Length 3,000mm
Weight 0.860kg/m
|
eV Box Guide
e r-ll
E r i
x.[ r Material pPVC
h 4 Length 3,000mm
T /‘ Weight 0.500kg/m
Material PVC
Length 3,000mm
Weight 0.970kg/m

M PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios

PLASTIC GUIDE

B

Unit: mm

R{ER YT Box Guide

a RG-40B40
‘ -
< Material PVC
{“ ' Length 3,000mm
. :
# Weight 1.400kg/m
Material PVC
Length 3,000mm
Weight 0.700kg/m
Material PVC
Length 3,000mm
Weight 570kg/m
Material PVC
Length 3,000mm
Weight 0.860kg/m
NCEUMl Sheet Guide
Material PvVC
Length 3,000mm
Weight 0.450kg/m

5572 PROFLTEAM LATINA 5.

SISTEMAS DE MONTAJE

Use 5mm thickness board panel

Board Panel



ACCESSORIES - Accesorios Og_>0

PLASTIC GUIDE

Unit - mm

BEEYH sheet Guide

SG-02

Material PVC
Length 3,000mm
Weight 0.740kg/m

Use 5mm thickness board panel Board Panel

Sheet Guide

Material PVC
Length 3,000mm
Weight 0.490kg/m

Use 5mm thickness board panel Board Panel

(@piri:{&@l Cable Duct

<l

Gf@_ ‘_,i"f’ Material PVC
..a-"";—, Length 3,000mm
< Weight 0.260kg/m
CD-28C
@y} Cable Duct
H.F? CD-28D
o ,—r"""‘ Material PVC
(913;. Length 3,000mm
Weight 0.220kg/m
Dust Plate
DP-A
Material PVC
Length 3,000mm
Weight 0.360kg/m GAP-37

#

SISTEMAS DE MONTAJE

m ProFI-TEAM LATINA s E



ACCESSORIES - Accesorios %@EOI

AL BOX GUIDE

Unit: mm

ARG-35B

Material Aluminum
Length 4,000mm
Weight 0.79kg/m
Material Aluminum
Length 4,000mm
Weight 0.81kg/m
ARG-35C
Material Aluminum
Length 4,000mm
Weight 0.52kg/m
A{CREIVAY  Box Guide- ESD
ARG-40A
Material Aluminum
Length 4,000mm
Weight 0.53kg/m
Material Aluminum
Length 4,000mm
Weight 0.67kg/m

m ProFI-TEAM LATINA s

SISTEMAS DE MONTAJE



ACCESSORIES - Accesorios %@EOI

AL BOX GUIDE

Unit - mm

AN e loe{o]:{8 Box Guide- ESD

ARG-4030BL

= Material Aluminum

V 'H Length 4,000mm
Weight 0.87kg/m

ARG-40C
Material Aluminum
Length 4,000mm
Weight 0.62kg/m
Material Aluminum
Length 4,000mm
Weight 0.52kg/m
NIl Box Guide- ESI; .
"
Material Aluminum
Length 4,000mm
Weight 1.11kg/m
LNCRENELY] Box Guide- ESD
- -
=
' 4
E
Material Steel
{ 4 Length 4,000mm
’ Weight 0.91kg/m

m PROFl-TEAM LATINA sa E

SISTEMAS DE MONTAJE



ACCESSORIES - Accesorios

AL BOX GUIDE

N

Unit: mm

JAL{CR Vel Box Guide- ESD

ARG-60C

Material Aluminum
Length 4,000mm
Weight 0.59kg/m
N &'E{\} Vertical Safety Cap
=l -
.| * Fi
: o
“' Material ABS
Weight 0.001kg
Q'ty/Box 6,000 EA
&Y Vertical Safety Cap
Material ABS
Weight 0.002kg
Q'ty/Box 4,000 EA
A& ¥ Horizontal Safety Cap
4 o
o
Material ABS
Weight 0.002kg
Q'ty/Box 4,000 EA
i\ &g VY1l Horizontal Safety Cap
_—
o
-'f Material ABS
Weight 0.002kg
Length 4,000 EA

m PROFl-TEAM LATINA sa

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios

AL BOX GUIDE

Unit - mm

)\ ctr1:J:"\ll Box Guide - ESD

Aluminum

4,000mm

0.380kg/m

Material
_.'r""r Length
", o
Ly
i :

Weight
|
“(
N

5573 PROFI-TEAM LATINA 5.
SISTEMAS INTAJE

ASG-28A




ACCESSORIES - Accesorios Og_>0

PLASTIC CHANNEL

Unit: mm

Material-PVC

Thickness ‘ H ‘ Weight (kg) ‘ Configuration

3 30

4 30

4 30

4 50

4 50

4 50 .
AL-7B EAL-7B 4 50 150 1.116 =
AL-4 EAL4 4 80 20 0.978
AL-5 EAL-5 5 50 50 0.590
AL-6 EAL-6 5 50 75 0.884
AL-7 EAL-7 5 50 150 1.510

Thickness ‘ ‘ Weight (kg) ‘ Configuration

[ PatNo | Weight
o o e e e

0572

3 8

AU-2 EAU-2 3 55 = 30

0 772
AS—2 EAS—Z 5 22 60 30 30 0580
AS3 EAS3 4 17 50 30 30 0800

OVGI'

PartNo Weight
PRI

EPC-01 0320
PC-OZ EPC-02 25 135° = = = 0310

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios

LEVELING FOOT

= Small-Type

AD30PA LEVELINGFOOT

«©
™

‘lf.:.—';‘

AD32WA

LEVELINGFOOT

Unit - mm

M3 M8
230 Plastic
- Weight :0035kg La - Weight :0053kg
« Qty/Box: 150pcs * * Qty/Box: 125pcs

= Nomal-Type
i BaseDiameter | Threaded Spec
AD32WB 50 X
1/212N o
AD32WC 732 100 X B2
AD32WB-M o 50 X ol SO
AD32WC-M 100 X = &
AD32WD 032 1/2"-12N 150 X

Base Diameter

Threaded Spec

Threaded Length

; 1 AD50WA 250 212N 50 X
| AD50WB 100 X olis
i AD50WA-M 50 X k
g AD50WB-M 250 Mi2 100 X ©
"‘i‘ ADSOWA-AC ) 50 R .
- AD50WB-AC 250 VZEN 100 X
= STS-Type( Optional Pad)
Py .i PartNo BaseDiameter | ThreadedSpec | Threaded Length ESD Type
! = AD355A 50 X
i E @35 1/2-12N als
: 3 AD355B 100 X =
= e AD40SPA o0 /212N 50 X 1
lﬂ ADA40SPB (Rubber Type) 100 X <>
= RubberPad-Type
AD3 No | BaseDiameter | Threaded Spec | Threadength |
2 1/212N
| | AD32RB 23 /2 100
AD32RA-M 50
32 M12
' .. AD32RB-M @ 100
(V4
-
i
PartNo | BaseDiameter | ThreadedSpec | ThreadedLength |
: ADSORAN @50 1/2-12N >0
AD50RBN 100
AD50RAN-M 50
( & ™ AD50RBN-M 250 Mi2 100
' QBE%R%TV @50 1/2"12N 12‘2%
u
AD50RANH Leveling Foot RB-AD37 Leveling Foot Rubber Pad

=
@365

» Weight :0.006kg
* Qty/Box: 1,500pcs

» Weight :0.120kg
* Q'ty/Box:60pcs

5573 PROFI-TEAM LATINA 5.

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios Og_>0

THREADED INSERTS & INNER CAP

= Thread Inserts Unit: mm
PartNo Classifcation Application Colors Threaded Spec Material Dimension
BC2807A ) 1/212N
BC2807B . White o175 Steel oot
BC2807C ’ Gray 1/2-12N Plastic ’
BC2807D White M10-P15 Steel
BC2810A . /212N
BC2810B S White M12-P175 Steel s
BC2810C Coated Pipe ’ Gray 1/212N Plastic
BC2810D White M10-P15 Steel
BC2814A @28xT14 White 1/2"12N Steel @227
BC2814B M12-P1.75
BC2820A . /212N
BC28208 228120 White M12P175 Steel @219
BC2820D @28xT20 White M10-P15 Steel
BSO7A ' 1/2-12N 265
BSO7B @28xT0.7 White M12-P1.75 Steel
BSO7D M10-P15 @263
BS10A STS Pipe ) 1/212N
28T Wh | 26.1
BS108 ECOPipe 22810 e M2p17s Stee 026
BS12A 1/2-12N
) /2 @255
BS12B @28xT12 White M12P175 Steel
BS12D M10-P15 @253
BC3210A /212N Steel
Coated Pipe @32xT10 White @275
BC3210B M12-P1.75 Steel
AS2807A STSPipe 1/212N
) 28xT07 2
AS2807B ECOPipe 92810 M12-P175 0265
AC2809A /212N )
AC2809B e @28xT1.0 Gray M12-P175 Aluminum 2238
AC2814A pe BT /212N o8
AC2814B ’ M12-P175 ’
1', OB28AN 1/2"12N
. AllPipe @28 White Steel @277
OB28BN M12-P1.75

= |nnerCap

Classification Colors Marking Material
GAP-4P-i Ivory
GAP-4P-B Black GAP-4P
All Thickness Pipe GAP-4P-G Gray
(Coated Pipe &STSPipe)
GAP-4R-B Black GAP-4R
@28
GAP-4CH Ivory
Coated Pipe GAP-4CB Black GAP-4C Plastic
GAP-4C-G Gray
GAP-4S-i Ivory
EZS(’)P:’; GAP-45-B Black GAP-45
GAP-45-G Gray
GAP-4310-i Ivory
@32 Coated Pipe GAP-4310-B Black GAP-4310
GAP-4310-G Gray

5573 PROFI-TEAM LATINA 5.

SISTEMAS DE MONTAJE




ACCESSORIES - Accesorios Og_>0

OTHER
EWS-() WORKSTOPPER
EWS-A GP4036A/4036B 0.056kg 240pcs
EWS-B GP4050C 0041kg 300pcs
EWS-C GP8550B 0.136kg 70pcs
EWS-D GP4050D 0.061kg 160pcs
EWS-E GP3533B 0.036kg 320pcs
EWS-F GP6033B 0.085kg 170pcs
EWS-F2 GP6033B(2Roller) 0.046kg 110pcs
EWS-G GP4040A/B 0.085kg 240pcs
EWS-G2 GP4040A/B(2Roller) 0.036kg 140pcs
EWS-H GP7040B/8540L 0.130kg 120pcs
EWS-J GP6016S 0.078kg 200pcs
EWS-J2 GP6016S(5Roller) 0.050kg 250pcs
EWSK GP8543B/HA 0. 140kg
EWS-AN GP4036A/4036B 0.086kg 250pcs
EWS-GN GP4040A/B 0.056kg 250pcs
EWS-GN2 GP4036A/B(2Roller) 0.019%g 200pcs
EWS-MN GPR8545B/HA 0.155kg 30pcs
EWS-PN GPR2528A 0.023kg 410pcs
Ara ] Crameie Hemsrh
| GAS-OTA Cinaied Pioe S28x 107 W2
E :ﬂ - GAS-10A EEE 1.0 WZ
m "h.m-‘l GAS-OTS STS/Eoo Pipe ViBx107 W
it GAS-129 228x112 WZ

= Weght - [LO0Gkg
= QI'yB0N ; Bi0pcs

ghv-ors NETALCR P | o | Damew | sk

2276

fa)

GAM-07S STS Pipe @ 28X10.7 Wz

» Weight :0.037kg
* Q'ty/Box: 500pcs

RF-01 Rubber Foot

» Weight :0.035kg * Weight :0011kg
RF-01:Normal (D/Gray X X
RF-01E:ESD (Black) * Qty/Box:250pcs + Qty/Box:450pcs

RF-02 Rubber Foot

5ol Pronremumma.. [



ACCESSORIES - Accesorios Og_>0

OTHER
= Fasteners 4
FastenerType | PartNo | fem | Spec |Colors| Usage Fastener Type
a TNOGW M6 White MO610W P10 White
__4 Metal & 13/ Metal
N [RlE: Joint ‘ F 1241 Joint
po=F TNO6B M6 Black MO610B P1.0  Black
_ SW10W M10 M10Bolt Mo625W P10 | White
[ t, . Spring i M6x25
] i White ;,.-“‘ M06258 P10 Black
= SWI3W M12 M12Bolt A Joint
o MO630W P10 White
M6x30
. PWOsW ot M5 MSBolt MO0630B P10 Black
f | a .
F Washer Ul
g PW10W M10 M10Bolt

¥ :.-v‘ MO830W = M8x30 P1.25

NNO6W M6 MeBolt -, /";’.) White AL Joint

L
L | MO840W  M8x40 = P1.25
NNOSW M8 M8Bolt
Nylon Nut
NN10W M10  White M10Bolt # M1020W | M10Bolt ~ P1.25
+
r’ White Caster
NN12W M12 M12Bolt - M1225W  M12Bolt =~ P1.25
i GM835W P1.25 Cast
NNOSW- '"Cmb” 12-12N inch Bolt SHer
GM840W P1.25
NO6W M6 M6 Bolt ..-"'.-' GM845W P1.25
‘,i} Nut P M8Bolt White  Base
i .
x: NOSW M8  White M8Bolt s GhtEe e L
" Metal
b GM860W P1.25
NiO5SW-12  inchNut | 1/2"-12N inchBolt GMBTOW P1.25
Gi0532W-12 '”3c2h Bolt 4 1218 Caster HMO0620 P1.0
mm . KNOB Metal
f White Black .
inch Bolt Base Bolt Joint
e Gi0575W-12 1/2"-12N Lock HM0630 P1.0
75mm Metal

SISTEMAS DE MONTAJE

@xﬁ ProFI-TEAM LATINA s



m PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE

CASTERS - ruepas
PIPE RACKING SYSTEM




CASTER - ruepas OiTZO

CASTERS NUMBERING SYSTEMS

T363s-1B

T:Thread 22" S:Swivel 1:Soft Rubber B :Brake
G:GripRing 32 2525" R:Rigid 2: Polyurethane(Red) DB:DoubleBrake
F :Fastening Rubber 36 33 3:Nylon S :Stainless
P :TopPlate Type 50 3535" 4:Rubber Plastic BS:STS Brake
60 44 5: Polyurethane(Gray)
62 66" E:ESD
68 88"

THREADED STEM TYPE

Design

T3025-1 T3025-1B T3025E 2 Soft Rubber

20 Plain 40 72
T30255-2 T30255-2B - Polyurethane
T36255-1 T36255-1B T3625E Soft Rubber Plain 35

25
T36255-2 T36255-2B = Polyurethane Ball 45 87
Light | ¥2’x12N-15L

T362554 T362554B - Rubber Plastic Ball 40

25
T3635-1 T3635-1B T363SE Soft Rubber Plain 45
136353 T36353B = 3" Nylon Plain 65 9
T36354 T36354B = Rubber Plastic Ball 55

Wheel

Soft Rubber Polyurethane Polyurethane Rubber Plastic

Pron e uama.. [




CASTER - ruepas OiT;O

THREADED STEM TYPE
Design

Wheel . Threaded

Material mm<A> Seaian Specifcation

T5035-1 T5035-1B T503SE 3 Soft Rubber

103
T5035-2 T5035-2B - Polyurethane 100

32 Ball Light | 2"x12N-25L

T5045-1 T5045-1B T504S5E & Soft Rubber 75

128
T5045-2 T5045-2B = Polyurethane 100

Wheel

Soft Rubber Polyurethane(Gray) Polyurethane(Red) Polyurethane(Gray)

GRIPRING TYPE

Design G81352 G81352B G813R2

D ® &

Section spﬂ;cr;?:ﬁeg =
mm<A>
G81352 G813S-2B G813R-2 3 Polyurethane 32 Plain 75 100 Light = ®11X38mm
GAP-9C Coated Pipe (028XT1.0)

Assembly : Pipe + GAP-9 + Grip Ring Caster
GAP-9S STS/Eco Pipe (028XT0.7)

50
29
5

Pron e uama.. [




CASTER - ruepas 0%&50

FASTENING RUBBERTYPE

Design

FC/FS3025-1 FC/FS3025-1B FC/FS302R-1 FC/FS504R4K

o

o

& o

FC/FS36454 FC/FS3645-4B FC/FS364R4 FCD/FSD3745-1B

-

m

m
FC3025-1 FC3025-1B - 2" X 35 72
20 Plain
FC3035-1 FC3035-1B - 3" 45 97
FC3635-1 FC3635-1B - 3 Plain/Ball 45 9
FC36354 FC3635-4B FC363R4 25 Ball 50 9
Coated Pipe FC3645-1 FC3645-1B FC364R-1 o Plain/Ball 55 123
FC36454 FC3645-4B FC364R4 Ball 60 123
FC5035-1 FC5035-1B - 3" 32 Plain 56 104
FC504S-2 FC5045-2B - 4" 85 129
FCD374S-1 FCD374S-1B - 4" 20 Disc 55 124
FS3025-1 FS3025-1B FS302R-1 2" 2 Plain 35 72
FS3035-1 FS3035-1B FS303R-1 3" Plain 45 97
FS3635-1 FS3635-1B - 3 Plain/Ball 45 9
FS36354 FS3635-4B FS363R4 % Ball 50 9
STS/ECOPipe FS3645-1 FS364S-1B FS364R-1 o Plain/Ball 55 123
FS36454 FS3645-4B FS364R4 Ball 60 123
FS5035-1 FS503S-1B - 3" 0 Plain 56 104
FS504R-2 4" 85 129
FSD3745-1 FSD3745-1B - 4 20 Disc 55 124

*FASTENING RUBBERTYPE: ESD s available

FS : Fastening Rubber-STS/Eco Pipe ( $28x T0.7 /T1.2)

PIPE
| ]| pemeEE . |

SCREWH

‘u p X

Wheel Material : Soft Rubber (Normal) / ESD Soft Rubber | [ C : Fastening Rubber-Coated Pipe ( $28xT0.7/T1.0)

SWIVEL

p—
Rubber
E Steel Cap

<A>
N
4

<A

ProFi-TEAM LATINA 54 146 -

SISTEMAS DE MONTAJE




CASTER - ruepas OiTZO

TOP PLATETYPE

Design

P3635-3S P504S-2 P5045-2B P504R-2 P5045-2DB

Plate Dimension(mm)
Wheel .
Material . . Overall Hole
<DxE> <BxC>
P3635-3S _ _ )
(All Stainless) " ;
P36353 ) ) ) 3 Nylon 25 Plain 65 95 70X60 55X42
(Steel)
P5035-1 P5035-1B P503S-1DB P503R-1 Soft Rubber 56
3" 103
P503S-2 P5035-2B P5035-2DB P503R-2 Polyurethane 100
P5045-1 P504S-1B P5045-1DB P504R-1 Soft Rubber 75
4" 32 Ball 128 95X64 75X45
P504S-2 P504S-2B P504S-2DB P504R-2 Polyurethane 105
P5055-1 P5055-1B P505S-1DB P505R-1 Soft Rubber 80
5" 156
P5055-2 P5055-2B P5055-2DB P505R-2 Polyurethane 115

XP503/P504 /P505 Series: ESDis available

Wheel

Soft Rubber

Polyurethane(Gray) Polyurethane(Red) Polyurethane(Gray)

Pron e uama.. [




CASTER - RUEDAS Og_>0

TOP PLATETYPE

Design

Wheel Plate Dimension(mm)

Material

P6245-2 P6245-28 P624R2 & 20 136
P6255-2 P6255-2B P625R-2 5 Polyurethane 38 Roller 250 161 114X102 80X76
P6265-2 P6265-28 PE26R2 6 250 191
PE6AS2 P664S-28 PE6AR2 P 320 3
P6655-2 P6655-28 P665R-2 5 Polyurethane | 50 R‘:':”r/ 360 | 165 | 114X102 | 80X76
P666S-2 P6665-28 PEGER2 6 %0 | 187
P6365-2 P636-28 P63ER2 6  Poyuethane 50 Ball | 360 = 200  150X114 | 125X62
P638S-2 P688 28 P6SSR2 g Poyuethane 50 FOIS g0 a8 1soxie 12562

P686 Series : Shock Absorbing Caster

Wheel PU/Castlron PU/Castiron(®/B)

SWIVEL BRAKE

Pron e uama.. [




CASTER - ruepas OiT;O

KH-200 (FLOORLOCK) - PIES DE FRENADO

Design
04200

. m—

= e :
'
-

Strcl)(ke PIaPte ‘ Bolt dis;ance ‘ Bolt Eole ‘ Caster height
KH-2004 103 27 130~145 150 ITXB 70X60 10 125~140
KH-200-5 120 27 147~172 150 97X 88 70X60 10 145~165
KH-200-Stainless 160 45 205~230 195 120X120 85X85 10 183~20
KH-200-Adjustment 160 45 205~230 195 120X120 85X85 10 183~20
KH-2006 160 45 205~230 195 120120 85X85 " 183~20
KH-200-8 210 40 20 195 120X120 85X85 1 240~245

Please Referring the caster height to select the Floor Lock

Drawing

Land |

Attached Side

Pron e uama.. [




m PROFI-TEAM LATINA sa.

SISTEMAS DE MONTAJE

LIFT TABLE - MESAS CON ALTURA REGULABLE




LIFT TABLE - MESAS CON ALTURA REGULABLE Og_>0

LIFT TABLE

Feature
User can easily move the table of the lift table in accordance
with the height of him or her.
Also, the user will plainly modify the structures of the lifta tble.
Specification
TABLE SIZE 800X600 1200x800
STROKE MAX.200mm
OPERATION MANUAL
LOAD 10Kg
B.O.M (LT-500) Dimension
PART NO. PART NAME UNIT Qy REMARK ﬁ :':' ;L 'j':d
L-500 RAIL EA 2 ) _]l— B
TM16-500 SCREW ASY EA 1 S
=] =
GAP-21A NUT BLOCK EA 1
GAP-22A BEARING BLOCK EA 1
W h——!
BBO1 BALL BEARING EA 4 %
HD-80 HANDLE SET 1
$2807 PIPE MT - Condition of the sizes =il . )"1
GAP-4P INNER CAP EA 4 _-u( T 13 )] i
= . =
GAP-12 SLEEVE EA 10 i i ] iR
GA-1S JOINTS SET 10 S20750)
GA-12S JOINTS SET 10
- ]
PS-A JOINTS SET 2 5
BS07B THREADED INSERT EA 8 %
&
M1225W BOLT EA 8 8
bl b
SW13W WASHER EA 4 S 1 |
LT-750 requires L-750 rail

PROFITEAM LATINA 50 m -
SISTEMAS DE MONTAJE




LIFT TABLE - MESAS CON ALTURA REGULABLE %@EOI

LIFT TABLE COMPONENTS

% LIFT TABLE COMPONENTS

= Wmght - DL812kg « Weight ; 1.3Tkg
* IWHOK - Slpes. v QIO - 40pes

T16-500 _B601__ Ball bearing

=
s

= Weight | 0.115k3
« QB0 42 pos

HD-80 Specification
ltem Spec Qy Note
Wheel 280 x M06 1
Handle M6,L=60 1
Key 4x4x15 1
Wrench Bolt M4x10 2
+ Qty/Box: 30set
SNAP RING SN12 1

ProFI-TEAM LATINA < E -
SISTEMAS DE MONTAJE




TECHNICAL SPECIFICATIONS
ESECIFICACIONES TECNICAS

BENDING STRENGTH FOR PIPE

400

350 363
‘ 500 mm ‘ 300
[— ‘ 200
¥ 30 |
100
[ ] °
t0.7 t1.2 t0.7 t1.0 t0.7 t1.2
A A ECO Pipe Coated Pipe STS Pipe
Unit :kgf
Test Condition Spec. of Pipe Eco Pipe Coated Pipe STS Pipe
1. Test Speed : 5mm / min 228 x10.7 158 173 166
28xt1.0 - 266 -
2. Temperature : 23°C 28x
@28x11.2 350 - 363
BENDING STRENGTH FOR ROLLER TRACK
it ke

o PP

Teat Condiion

I' 35 Ganes 1]
| . 1. Tasl Spasd | Sinm | fman i
) ; ; a0 Baries 150
2. Tempesalure * Z3 T , 2
fill Sones g LilH]
L 70 Senes 200
8BS Sancs 300
COMPRESSION STRENGTH OF WHEEL SUBASSEMBL
Uinit g
Modni Lesad
Toet Condaion 30 Serias 10
1. Tusl Spoad : Smm | o A0 Buriws 180
2, Tempersiure - 23T 40 Senes 24
o ._.-':-"- T Senes 200
85 Saries 5N
ANGLE RECOMMENDED FOR CONSISTENT
7 o 35 Senes 25°
1. B Wght 15 b 40 Seriees 20
3 T : -;ar 80 Serimy 25
Tl Sanes 35°
BS Banes 257

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




TECHNICAL SPECIFICATIONS [?\ibf?]
ESECIFICACIONES TECNICAS N2

HOLDING FORCE

1, Test Speed . Gmm { min
2. Temperature : 23

Coamd Pipe Stainlerss Sboel Pipe
e PELL L . @mino _ 0280107 _ Bzmen 2
Direction | X MormTrantky  MoeThanBoky  MowThanBikg Mo Thanlig
[irsction 1Y Mors Than 80kg Mors Thar, Biikg Mors Than B8 kg Mo Than 80 kg

DETERMINING STANDARD PIPE LENGTH

| Metal Joint |
B0
a0, & |
Casa of B128mm

1000 mm Canler Massiusgment (L)

: Tomm Fipa Lengtn Insida Jomd {35mmx 2}
-2mm Extra Magsurement (2mmeSem )
94 Fipe Lengt [ | }

L= 1000 Canbat il of fack)

I Plastic Joint !

_
¥
] = =i Gaze of B28mm
I_jr~ .!._... 100G mm Cenier Weasuement (L)
i Ly Airnm Fipe Lergth Insade Jaing {20mm x 2]
M 2mm Eidra Maasirernent (2rmm—Smen)
L&) - Biamm Fipe Length (1 )

Pron ey [




EXAMPLES

EJEMPLOS DE FACILIDADES

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE



EXAMPLES od Co
EJEMPLOS DE FACILIDADES BMA

LR MRS G oy

=3




EXAMPLES

EJEMPLOS DE FACILIDADES

5573 PROFI-TEAM LATINA 5.

SISTEMAS DE



EXAMPLES
EJEMPLOS DE FACILIDADES

5573 PROFI-TEAM LATINA 5.
SISTEMAS INTAJE

il |
- .
=

T



EXAMPLES
EJEMPLOS DE FACILIDADES

uf
B
J, Wl

L LN
w

=

W |l

1 [}
| I -
fum i K
I - e
1 -.1- - e
Il i | 1 - 4

B

5573 PROFI-TEAM LATINA 5.
SISTEMAS INTAJE




EXAMPLES
EJEMPLOS DE FACILIDADES




EXAMPLES o 50
EJEMPLOS DE FACILIDADES BMA

m PROFI-TEAM LATINA sa
SISTEMAS DE MONTAJE



EXAMPLES
EJEMPLOS DE FACILIDADES

5573 PROFI-TEAM LATINA 5.
SISTEMAS INTAJE




EXAMPLES

EJEMPLOS DE FACILIDADES
2 Pron ..

EXAMPLES

O




EXAMPLES
EJEMPLOS DE FACILIDADES

5573 PROFI-TEAM LATINA 5.
SISTEMAS INTAJE




EXAMPLES B\g{;ﬂ

EJEMPLOS DE FACILIDADES

£ o
J‘ l|| || JT :. -"'.""!l:'

i e 2t e

Ij[
T |
11 ._L_ﬁi i
l
: - --‘_ [
X I | sl il S .-I ._ L .'+_f IRy g '..-" .:.
| |.Il '™ || I i ;':‘"- ';_ -1 = e J.

PROFI-TEAM LATINA sa

SISTEMAS DE MONTAJE




EXAMPLES
EJEMPLOS DE FACILIDADES

5573 PROFI-TEAM LATINA 5.
ISTEMAS INTAJE




E@ 9] PROFI-TEAM LATINA s

SISTEMAS DE MONTAJE

PROFI-TEAM LATINA S.A.

@ Aviador Mira 2316 B® Villa Adela CP 5010 - Cérdoba, Argentina
( +54 351 4655047 / 5045 =& ventas@profiteam.com.ar
2 www.profiteam.com.ar

4 BRASIL
MAQUINER IMPORTACAO LTDA-EPP

QAV. Eng® Armando Arruda Pereira 2937 - Sala 221 - Bloco B - Condiminio
Greenwork Boulevard - Pg. Jabaquara - Cep 04309-011- Sao Paulo - SP

€, (55) 11-2979-3388 - 2973-0249

Contato: Carlos Lima - Gerente Comercial
N4 carlos.lima@maquiner.com.br % www.maquiner.com.br

s A A—



	1
	2
	3
	4

